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Question Number : 1 Question Id : 630680227316 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The controlled re-entry experiment for the decommissioned Megha-Tropiques-1 (MT-1) was carried out successfully on 7 March 2023. It
is a collaborative effort between ISRO and the space agency of

Options :

1. % Japan
2. % France
3. % China
4. % Canada

Question Number : 1 Question Id : 630680227316 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

GHOOTBONDAEN -’V Y-1 (MT-1) 0 QOHO(E3¢ HSB-(Da3% (DTIHO 7 83378 20233 D2BANSOSOMT
QG L0V E0E. YE ISRO DB @050 DOPE EIS 28 25 S S

Options :
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1. % 20
2.9 Q)
3. % QO°

4. % 3d@

Question Number : 2 Question Id : 630680227317 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Silicon Valley Bank (SVB) that collapsed in March 2023, is headquartered at
Options :

1. % California

2. % Beijing

3. % Bengaluru

4. % Paris

Question Number : 2 Question Id : 630680227317 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

558, 202365° H09 )5S DOTS 75O 23508 (SVB) (DG ST*§O00 S Hod.
Options :

1. ¢ OO ) OS>

2. % 980h

3. % ZONTTSR

4. % O

Question Number : 3 Question Id : 630680227318 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding Nobel Prizes 20227
I. The Nobel Prize in Physiology or Medicine 2022 has been awarded to only one person.
II. The Nobel Prize in Literature 2022 has been awarded to Annie Ernaux.

Options :

1. % OnlyI

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 3 Question Id : 630680227318 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

2022 SBS D ©Z HODOHOD &2 (80 a7¢3¢S° OBIE/D DE/D?

L DBATOE B DEDS’ 2022 STBS 2570503 208 5588 S5 0SB0 DR0A.
IL 5506 2022 STBS 225050 @) D) 5% ©DoDOA.

Options :

1. % 1 X3r(eda

2. % 11 375

3. % 10805 I1 Bockw

4. % 15°0 S 11 5°Q & 570

Question Number : 4 Question Id : 630680227319 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs representing the international agency and the report published by it is/are correct?
I. Global Risks Report — World Bank
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II. World Development Report — World Economic Forum
II1. World Economic Outlook — International Monetary Fund
Options :
1. & Onlyl
2. % land III
3. % Iland III
4. % Only 111

Question Number : 4 Question Id : 630680227319 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

0BT 0N DB DN B (HTNBONS JBEOEL (FBAC0 SN, & 1808 235’ DE/AD DBXIE/
QB N?

L 3235 B BNY — (DD 2508

11 |DD0L @8)SE RO — (HD0S &8 &S0

1L 35S DETWNE TETens - @0ST°3AD 555 D
Options :

1. % 135753

2. % 1080w III

3. % 110805 M1

4. ¢ 111 3775330

Question Number : 5 Question Id : 630680227320 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following shows the countries in the correct ascending order based on the GDP per capita (current US$) 2021, according to
World Bank?

Options :

1. & Denmark, Finland, Sweden
2. % Finland, Denmark, Sweden
3. % Sweden, Denmark, Finland
4.+ Finland, Sweden, Denmark

Question Number : 5 Question Id : 630680227320 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1905 237508 (D5°B0, 5308 GDP (NS US$) 2021 35S0 &k (808 ¢3S’ & 9D )50 BFOD OB e85
180065 T3y es0E?

Options :

1. % G020y, D08, VIS

2. % D08, Brdy, DIBS

3. % DIBS, Beo2dy, Dok

4. ¥ D08, DIGS, To5)

Question Number : 6 Question Id : 630680227321 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Agnipath scheme approved by the Union Cabinet of India in June 2022, is related to
Options :

1. # the development of missile technologies

2. % new communication technologies

3. # rehabilitation schemes for drug addicts

4. % recruitment in the armed forces
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Question Number : 6 Question Id : 630680227321 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

27& 202265 2305 ¢5 B[S SO D0BO STFE0DS @A) HE N0 & 50D0HODIA.
Options :

1. % §963 Jro3BZevhe) @DNHQ

2. % §S E0sdBAS BosT) ©28en

3. 8 QPRS0 20BN YT DA

4. % JONES STrS DASTNE0

Question Number : 7 Question Id : 630680227322 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T SR DTS DT 2023 BwEY e .

Options :

1. % OBBE IBTH0S HLONO DYQN Bedoen

2. % 89 DR : 3@ 0T edgehen

3. ¢ 8 TPRrSe T S0° FASIE0, 355750 B0 DT830 DBBE e (17 €93))
4. % VS 3558 ©9DSHQ

Question Number : 7 Question Id : 630680227322 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The theme of Pusa Krishi Vigyan Mela 2023 was

Options :

1. ® Self-sufficient farmers with technological knowledge

2. # Krishi Vikas: Innovative Technologies

3. % Nutrition, Food, and Environmental Protection through millets (Sree Anna)
4. # Sustainable food development

Question Number : 8 Question Id : 630680227323 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding Ayushman Bharat Digital Mission (ABDM)?
I. In 2022, the Cabinet approved the implementation of ABDM with a budget of 31,600 crore for five years.
II. The pilot of ABDM was held in the six union territories.

Options :

1. % OnlyI

2. % Only I

3. % Both I and I
4. % Neither I nor II

Question Number : 8 Question Id : 630680227323 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SANTS 23S GBS MAS (ABDM)E H020E0D & 1808 63" QA DB IE/TI?
1. 202265°, ¢ D055 YTOZ 21,600 §€) 20FE S’ ABDM 9500050 SPDTE &SR0 SO0,
II. ABDM G308}, (D3350 s Zo(dardes |aromrereS 88808,

Options :

1. % 13575

2. % 11 30°(ehadd

3. ¢ 10805 11 Bockw

4. % 150 S 11 5°Q & 5°¢%0
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Question Number : 9 Question Id : 630680227324 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the draft NCF 2023?

I. To complete grade 10, students will complete two essential courses from each of the eight curricular areas available i.e., a total of 16
essential courses across two years of grade 9 and 10.

II. Students must complete 16 choice-based courses to complete grade 12.

II1. Grades 9 and 10 will follow an annual structure.

Options :

1. % OnlyIandII
2. % Only IT and III
3. % Only I and III
4.« 1, I and I1I

Question Number : 9 Question Id : 630680227324 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

NCF 2023 S0P00EE H0200E0D &8 (06 (D5636S /R OB/ S?

L B& 10 8 TOHERE, Deoesthen 90¢023eneS’ €5d) DM FPTE07° N0 BOK S0WEIOS FE IO I8
TS, @0 (B 9 HOCSN 10 BO D05 YT BNBO 16 S0WEFOS S0,

IL \B& 12 $°8 TOH@E D sen ¢6)I8T 16 00 )5-e3570¢5 SE0 10 78 TAsrd.
11 9 B0 10 8351 0% QT €9 DI OW.

Options :

1. % 100050 II S5

2. % 110805 I S5°( e

3. % 1000 I S5 ehadd

4. ¢ 1,11 805w 111

Question Number : 10 Question Id : 630680227325 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which court completed its platinum jubilee on 5 April 2023?
Options :

1. % Calcutta High Court

2. % Gauhati High Court

3. % Bombay High Court

4. % Madras High Court

Question Number : 10 Question Id : 630680227325 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

D T 7 Fe380 27D 5 ADS 20238 8 BK0oA?
Options :

1. % 8T &

2. ¥ a3 28N

3. % 2023 3

4. % N 3ED

Question Number : 11 Question Id : 630680227326 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
308 B¢ 2022-23 (H5°B0 e38s S0P HODOE0D) &t (S0 1HDELSOES” DE/D DB SE/BI?
L S55288 NSO TR RS0 9509065 e38H50 TR 9500065 B G0, BB 388 H0dS 150 1965 21%
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0 398 505550 23 (BE)S' 26%8 EHOL.

1L e85 50503 BO(ES B0 T3 [D20e° $e> 2TES 9500 388 H0es 150 23 (BE)SS' GDPES' 2.1%8 THE00E.
Options :

1. % 135753

2. % 11 S°(Hod

3. ¢ 10805 11 Bockw

4. % 150 S 11 5°Q & 5°¢%0

Question Number : 11 Question Id : 630680227326 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding health expenditure as per the Economic Survey 2022-23?

I. There is a hike in the share of expenditure on health in the total expenditure on social services, which has increased from 21% in
Financial Year 19 to 26% in Financial Year 23 (BE).

II. Central and State Governments’ budgeted expenditure on the health sector reached 2.1% of GDP in Financial Year 23 (BE).

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 12 Question Id : 630680227327 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In 2023, World Leprosy Day was celebrated on January.
Options :

1.9 29

2. % 31

3.& 15

4. % 20

Question Number : 12 Question Id : 630680227327 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

202365, DD0TS B0x a5E BSH Yo, 23398 &S 23BN .
Options :

1. %29

2. % 31

3.% 15

4. % 20

Question Number : 13 Question Id : 630680227328 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The term ‘CRISPR-Cas9’ is related with
Options :

1. % anew type of wheat

2. % genome editing

3. & the rover used in Chandrayaan - 3
4. % COVID-19 vaccine

Question Number : 13 Question Id : 630680227328 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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CRISPR-Cas9' @& D0 8 HOVOHODIA.
Options :

1. % 2.8 £ Fened $8o

2. % 808 0dG9

3. % SOSOITS- 368 GHTEAODS ESE

4. % &-19 S50

Question Number : 14 Question Id : 630680227329 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

With respect to technology developed in India, the term ‘CAWACH’ stands for
Options :

1. # Centre for Alternative WAR with COVID-19 Health Crisis

2. # Centre for Augmenting WAR with Chickenpox Health Crisis

3. & Centre for Alternative WAR with Chickenpox Health Crisis

4. ¥ Centre for Augmenting WAR with COVID-19 Health Crisis

Question Number : 14 Question Id : 630680227329 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2PESTFOS” 9 S5HR TOAS FPOTBEHZ H020HOD, 'CAWACH' & HS0 Q AN,

Options :

1. % 2065 HB &80T ¢3S 70 DS FA&E-19 3O ZR (Centre for Alternative WAR with COVID-19 Health Crisis)

2. % 2085 HB e70¢300 578 DS DTS T ) 2D 31D (Centre for Augmenting WAR with Chickenpox Health Crisis)
3. % 0D HE ST 3N 0 DS DIIIE) 2D 3V (Centre for Alternative WAR with Chickenpox Health Crisis)
4. ¢ 20¢0 HO es5330¢300 6 DS £A5-19 3D B (Centre for Augmenting WAR with COVID-19 Health Crisis)

Question Number : 15 Question Id : 630680227330 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What do we call the functional form of chemistry in which molecular building blocks snap together quickly and efficiently?
Options :

1. % Micro chemistry

2. # Click chemistry

3. % Nano chemistry

4. % Bio chemistry

Question Number : 15 Question Id : 630680227330 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DBXe0 DOOR 2rFen ¢ S 085N DNPX0SHOMT EOJFTDH SIPONS 77RO T, (8357eh % Srrard), S0
D0 DeNTAN?

Options :

1. % DIF IR

2. ¢ 853

3. % S 3R

4. % 23T (R

Question Number : 16 Question Id : 630680227331 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of acids and their natural source is/are correct?
I. Acetic Acid — Vinegar
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II. Lactic Acid — Lemon
Options :

1. % Only I

2. % Only II

3. % BothIandII

4. % Neither I nor 11

Question Number : 16 Question Id : 630680227331 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&5 (80 3576 23656 DO ¢3S D523 rereS DB/ DDA/ HBID?
1. Q¢35 €800 - IAKO

I1. e85 €3600 - Q0S5O

Options :

1. ¥ 1 S (edo

2. % 11 3753

3. % 10805 11 By

4. % 15°0 S 11 5°Q & 5°¢%0

Question Number : 17 Question Id : 630680227332 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements regarding nutrition in human beings are correct?
I. Alimentary canal extends from the mouth to the anus.

II. Saliva contains an enzyme called salivary amylase.

II1. Food pipe is also known as oesophagus.

Options :

1. % Only I and I
2. % Only IT and III
3. % Only I and III
4. % I, 1l and 11

Question Number : 17 Question Id : 630680227332 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

SR3OS’ FPASITIE H0200800D) &3 (808 ¢3S HB IR DN?
L. @) ParE St 0B AN SBEY ANBOD) &GOLNOE.

IL ePerBO0S ererae) RSV R JOBS GotNOd.

II1. €335 FTEPQ) 99 a°ars @9 SI°C® €90,

Options :

1. % 1308050 11 $33°(5 33

2. % 110805 I 557 e ad

3. % 1o08A%W I S5°(ebadd

4, ¥ 1, 11 85 M1

Question Number : 18 Question Id : 630680227333 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

532965 RSB0 H00B0D) &8 (80 (HELIDES DA/ DR HBIE/DBID?
L SPSYOS 203 €9:0s000%0 Teh AAHO(S0TI22CEH0E.

I 508 S*EE0T DS BB SBMT 860 55059 eH0E.

Options :
1. % 135753
2. % 11 30°(ehad
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3. 8 10805 I Bocky
4. 15 B 1157 D& 5°¢0

Question Number : 18 Question Id : 630680227333 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements regarding the human brain is/are correct?
I. Vomiting in humans is controlled by the cerebellum.
II. Walking in a straight line is possible due to the medulla.

Options :

1. % Only I

2. % Only II

3. % BothIand Il
4. % Neither I nor 11

Question Number : 19 Question Id : 630680227334 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following shows the correct match of the tissues with their respective types?

Tissue Type
I Xylem 1 Connective (Animal)
II |Bone 2 | Simple (Plant)

IIT | Parenchyma |3 | Complex (Plant)

Options :

l.& [-2;11-3;1IT-1
2.8 1-2;11-1;0I-3
3.9 1-3;11-1;11-2
4. % [-3;11-2;111-1

Question Number : 19 Question Id : 630680227334 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
& 306 orHS” DB, S HBOID T7H Do20HE GO VP AGHEHEIY SFNE0H?

gnz*oo Bgo
I | 1 | 20005 (2080:)
II | QWS 2| 20% @w8),)
III | oycoseseroo | 3 | DoSR @00s))

Options :

1. [-2;11-3;11I-1
2. 1-2;11-1;10I-3
3.9 1-3;11-1;1I-2
4. % [-3;11-2;1101-1

Question Number : 20 Question Id : 630680227335 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0
Correct Marks : 1 Wrong Marks : 0
&3 (808 ¢3S’ A S9&. T°2350 T, E2SANTIT N DENS2HTTON?
Options :
1. ¢ (2338
2. ® 3dEN
3. % BDOEDE)
4. % DSYSderen

Question Number : 20 Question Id : 630680227335 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following are known as the amphibians of the plant kingdom?
Options :

1. ¥ Bryophytes

2. #% Algae

3. % Pteridophytes

4. s Gymnosperms

Question Number : 21 Question Id : 630680227336 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The green plants in a terrestrial ecosystem capture about % of the energy of sunlight that fall on their leaves and convert it into
food energy.

Options :
1. % 0.01
2.9 ]
3.8 10
4. % 50

Question Number : 21 Question Id : 630680227336 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0020ED DTG 9530 €850:T5)) FEY e 3°¢3 FO D HT IS 55°0ed B, % $8
QO TP e355°8 8 LSrdoaraw.

Options :

1. % 0.01

2. % ]

3.% 10

4, % 50

Question Number : 22 Question Id : 630680227337 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2309658 202365, 2SS TIOS D S*NDT &5 180B a7e3S’ &) DS SeNHEE SO Ho&?
Options :

1. % 508 SrONPFS%0

2. % DEIE Berdd

3. % QDT

4.9 S b

Question Number : 22 Question Id : 630680227337 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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In January 2023, which of the following problems came to light at Joshimath in India?
Options :

1. # Bridge collapse

2. #& Cyclonic disaster

3. % Tsunami

4. % Land subsidence

Question Number : 23 Question Id : 630680227338 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In May 2022, the seventh session of the Global Platform (GP2022) was organised by the UN Office for Disaster Risk Reduction
(UNDRR) in

Options :

1. % Bali, Indonesia

2. % Tokyo, Japan

3. # Paris, France

4. % New Delhi, India

Question Number : 23 Question Id : 630680227338 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3320226, F0S PSS (GP2022) TINEY D6 NS UN &30 96 B2 89y 8%5.S (UNDRR) S
QB 5P0VOA.

Options :

1. ¢ 23»®, 208 I 205>

2. % &', B

3. 8% R, Q)

4. % 3360, 2rdeTSso

Question Number : 24 Question Id : 630680227339 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following apps gives the users lightning alerts on the basis of their location in India?
Options :

1. % Damini app

2. % Indra app

3. ®% Agniapp

4. % Kavati app

Question Number : 24 Question Id : 630680227339 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&3 1808 O O AATFHTROZ 2rBHTFOS” 38 (3F0HO eGSO DN 2t JBE 90ANOE?
Options :

1. ¢ P O

2. % Q0(& XD

3. % @f) A

4. % TS 0D

Question Number : 25 Question Id : 630680227340 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TTIBED ST D 0TS DN DBy ET IS (UNFCCC) T3Sy 2785 529388 es5 8% (CoP) S
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2380048,
Options :

1. % ()
2. &3
3. % 288330
4. 8 3@

Question Number : 25 Question Id : 630680227340 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The 27" Conference of the Parties (COP) of the United Nations Framework Convention on Climate Change (UNFCCC) was held in

Options :

1. & France
2. % Egypt
3. % India
4. % Canada

Question Number : 26 Question Id : 630680227341 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Bharat Stage (BS) VI norms are related with
Options :

1. % forest conservation

2. % wildlife conservation

3. % Ramsar sites in India

4. % vyehicular emission

Question Number : 26 Question Id : 630680227341 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

28 Qe (BS) VI Q200¢55en & 5020050,
Options :

1. % @ DoBE.

2. % SA$rene S0BE

3. % ESHTIOS TP W

4. ¢ S GRG0

Question Number : 27 Question Id : 630680227342 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following atmospheric conditions is also known as ‘Little Girl’?
Options :

1. ®% EIl Nifio

2. % LaNina

3. % Butte

4. % Strait

Question Number : 27 Question Id : 630680227342 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
&3 (808 ¢3S Q eSS DBVSOX 'OE3S KO €9 Eorca DN E?
Options :
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1% 0SS
2. e Q°

3. % 20

4. % 20008

Question Number : 28 Question Id : 630680227343 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the full form of IRENA?

Options :

1. % International Rover Energy Authority

2. # International Rover Energy Agency

3. ¢ International Renewable Energy Agency
4. % International Renewable Energy Authority

Question Number : 28 Question Id : 630680227343 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

IRENA 3308} DG B30 odee3?

Options :

1. # R0V ASS BXE o)é@ e06°6¢3 (International Rover Energy Authority)

2. % QO(‘DBQ}A&GS SPNIe) o)cﬁ@ éba(ﬁg (International Rover Energy Agency)

3. ¥ R0LBLANS BETEenS DGO DB ) (International Renewable Energy Agency)

4. % ’&O(‘Dél&léé 6&5"585&))5 Qé@ @9@"@6’3 (International Renewable Energy Authority)

Question Number : 29 Question Id : 630680227344 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With respect to agriculture, the term ‘Endosulfan’ is a
Options :

1. % method of rainwater harvesting

2. % GM version of coffee

3. # fertiliser

4. ¥ pesticide

Question Number : 29 Question Id : 630680227344 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S5O HOO0HOD), 'NDOEIETIS 9T 2.8 )
Options :

1. % 38 De e 5 HAE

2. % 5°9) BB0E) GM I8

3. % D)

4. ¢ HARDDNOD

Question Number : 30 Question Id : 630680227345 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding Global Methane Pledge (GMP)?
I. It was launched at COP26 in 2021.
II. India is a member of GMP.

Options :
1. % Only I
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2. % Only II
3. % BothIand Il
4. #% Neither I nor II

Question Number : 30 Question Id : 630680227345 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

F20S DTS RE (GMP)R H0220H0D) &3 (808 (HEEIS DE/D HBDSE/D?
L a8 20216 COP26 S5 |FS0D0DE0E.

IL 23355350 GMPS' 28 235 B50.

Options :

IS INE Y

2. % 11 S°(eHd

3. % 1080 11 DOy

4. % 15°Q S 11 5°Q & 5°¢

Question Number : 31 Question Id : 630680227346 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the National Green Tribunal (NGT) of India?
I. NGT was established in 2010.

II. New Delhi is the principal place of sitting for the Tribunal.

II1. Bhopal, Pune, Kolkata and Mumbai are the other four places of sitting of the Tribunal.

Options :

1. % Only I

2. % Only II

3. % Only I and I
4. % I, I and IIT

Question Number : 31 Question Id : 630680227346 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2PESTIOS'D 2730 SO (E3205 35S (NGT)E H00H0D & 180 (HELXE DB/ HBIE HBDSD?
L NGT 201065’ °20520308.

1L [€32205356 DAFSF0THS DTS (HTI0 drsAO.

1L S, 83, TSEE 0805 S00ZeD (€320 DTS F0TDg RSS D eth Frew.

Options :

1. % 1 30(da

2. % 11 375

3.9 1 000D 1T S5 ehadd

4. % 1,11 088w 11T

Question Number : 32 Question Id : 630680227347 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the given options correctly shows the arrangement of the following Indian rivers from south to north with respect to their origin
points?

1. Tapi

II. Krishna

III. Kaveri

Options :

1. & L IL, III
2. ¥ 1L 11, 1
3.8 ILIOL I
4. % LI 1T
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Question Number : 32 Question Id : 630680227347 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

25 52BS DD ITOS’ D &3 (80 23BB0N SCHEN €3 SIS (HBFOE H0DOE0D 5860 HOB &S0
SBEL °¢3 OB €9eDBED Wr)TON?
L. ¢5De3

1L ok

11 538

Options :

1. & LI, 111

2. 1L 11,

3. % ILTIL T

4. % 1,111

Question Number : 33 Question Id : 630680227348 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
& 308 a:-t‘i){)?ueﬁé T DOTEOD T Ssrodd RO 2EDOSE0E?

?.’}dSE“m 5o

[ |aPaoroom DOmEed | || P8 97080y

I .3“@)‘*30‘

]

E_‘Jﬁ‘l DGSWOJ

III | 8508 &dznoerd 3 | DD DOEPED

Options :

1.9 1-3;101-1;1I1-2
2.8 [-3;11-2;11I-1
3. 1-1;11-2;101-3
4, % 1-1;11-3;111-2

Question Number : 33 Question Id : 630680227348 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following options correctly matches the mountains with their types?

Mountain Type
I Himﬁlayan 1 | Block mountains
mountains
II Satpura 2 | Voleanic mountains
IIT | Mt Kilimanjaro 3 | Fold mountains
Options :

1. 1-3;11-1; 12
2. % 1-3;11-2;10I-1
3.# [-1;11-2;111-3
4.0 I-1;11-3;111-2

Question Number : 34 Question Id : 630680227349 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Which of the following pairs of part of the western coast and its name is/are correct?
I. Northern part of the coast — Kannad plain

II. Central stretch — Konkan

II1. Southern stretch — Malabar coast

Options :

1. % Only I

2. % Only I and IT
3. % Only I and III
4.+ Only III

Question Number : 34 Question Id : 630680227349 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

D335 BSOSO’ 23H0 sHAAN TR DK K> &3 180 2365’ DE/D DB SE/D?
L 33 [0S0 eSS 230 — §°) & D0

IL o038 @93 — §’08eh

IIL 58 69 @56 - b B (050

Options :

1. % 1 30(da

2. % 108050 11 S3°(5

3. % 1080 M S5 ehadd

4. ¢ 111 S5

Question Number : 35 Question Id : 630680227350 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which option gives the correct order of the following Himalayan peaks with respect to their height, from highest to lowest?
I. Makalu

II. Annapurna

III. Kamet

Options :

1.« 111, 111
2.8 LIILII
3. ILIIL T
4. % 1L 1,0

Question Number : 35 Question Id : 630680227350 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&3 (808 AT ODN FHT° IAEL D000, e O BN SBH DB (Z37Q), & D)0 ©OBN0E?
L z°en

LSNP

11 5°a0¢

Options :

1.9 1,10, 111

2% LILII

3.8 IL IO, 1

4. % ML LII

Question Number : 36 Question Id : 630680227351 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which option gives the correct arrangement of the following Indian states with respect to their population, in ascending order, as per the
2011 Census of India?
I. Karnataka
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II. West Bengal

III. Bihar
Options :
1. & I I, 111
2.9 111, 11T
3. ILILI
4. % 1L, 1T

Question Number : 36 Question Id : 630680227351 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2011 23°Oed 237 SEL (D5°V0, &8 (80d 23300 O°al® 2072750 D0D0HOD) esBsred Lé&ﬁaoés QOB @088

DODE 9OBNOE?

L 30°e8

I1. D)o 230

11 956
Options :
1. & I I, 111
2.9 111, 11T
3. MILILI
4. % 1L 1T

Question Number : 37 Question Id : 630680227352 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following options correctly matches the given Indian States according to their literacy rate in per cent, as
per the Census of India 20117

State Literacy Rate
I Kerala 1 | 75.55%
II | Bihar 2 | 94.00%
IIT | Haryana |3 |61.80%
Options :

1. I-1;11-2;101-3

2.9 1-2;11-3; 111 -1

3w [-1;11-3;111-2
4. % [-3;10-1;1I1-2

Question Number : 37 Question Id : 630680227352 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2011 2108 2T O5) 0 P00, YDED PEBOD TFFOD T VLTS T P00 & $00 DAYT S D& Lo

2EDDRV0E?

orao
&

w,sm“n:sé Ivddo

s0% 1

75.55%

II

25

(5=

94.00%

111

AT | 3

61.80%
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Options :
l.#& I-1;11-2;111-3
2.9 [-2;11-3;11-1
3o® [-1;11-3;1I1-2
4.8 1-3;101-1;111-2

Question Number : 38 Question Id : 630680227353 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs correctly shows the Indian food security scheme and its establishment/introduction year?
Options :

1. % National Food Security Act—2016

2. + Integrated Child Development Services — 1975

3. ® Revamped Public Distribution System — 2002

4. % Targeted Public Distribution System — 1961

Question Number : 38 Question Id : 630680227353 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&3 (808 ¢3S B 2SO €355G 25(IT® HHE0 sHBAN TR DT YENNISF D05 TR, DO TS e0E?
Options :

1. % 2308 55 2|5&° O - 2016

2. ¥ 03T & BO BIOVN0E D - 1975

3. % HISDB0DS (D23 HONES 555 — 2002

4. % GTFS |2 HDONES 553 - 1961

Question Number : 39 Question Id : 630680227354 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the given pairs is/are correct regarding the Census year and the total population of India in millions (approximate value)?
1. 1961 — 548.2 million
II. 1971 — 683.3 million

Options :

1. & Onlyl

2. % Only II

3. % BothIandII
4. % Neither I nor 11

Question Number : 39 Question Id : 630680227354 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BTeF BEYE D055 IS0 DB WOANN (NXTE DENX)ES &) aTESHTF BT°e3E H00E0D B 503
20O DO/ BBISE/ HBID?

1. 1961 - 548.2 O OHD

1L 1971 - 683.3 AN

Options :

1. 8 I o307(ehadd

2. % 11 375

3. % [.080% II Bockw

4. ¥ 150 S 11 5°Q & 5°¢%0

Question Number : 40 Question Id : 630680227355 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
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Which of the following statements is/are correct regarding farming?
L. In subsistence farming, the land is used for growing food and fodder crops and rearing livestock.
II. Shifting cultivation is known as Milpa in Northeast India.

Options :

1. % OnlyI

2. % Only II

3. % BothlandII
4. % Neither I nor II

Question Number : 40 Question Id : 630680227355 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S35 T 0578 H020EHOD & 180 &¢3S” DBIE/D E/D?

L BTG E $5§9rAN0EY, 253700 €355550 s0B05) SHUTRD DOLIOD HOBOTIETAE S0OAN HHYO VOIS
G OO3A0I22CDHHOA.

IL 23C3eP0N05Y 5T O0XN SFSS 2T BHTFOS er) @ e0tFE.

Options :

1. % 1 30(eda

2. % 1135

3. % 10805 I1 Bockw

4. Y150 S 11 520 DA 5°¢0

Question Number : 41 Question Id : 630680227356 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following options gives the correct order of low to high quality of coal?
1. Bituminous

II. Anthracite

II1. Lignite

Options :

1. & L II III
2. 1L L 1T
3.0 HLILT
4. % LUL I

Question Number : 41 Question Id : 630680227356 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&3 1808 JODEDS’ DA 550365 O B eSS e TP TZNEY, DB 135, *N0E?
| IEATAVIGAVNTSY

1. @0

11 8 &

Options :

1. & L IL, III

2. ¥ 1L 1, 1T

3.8 ML IL T

4. % 1,111

Question Number : 42 Question Id : 630680227357 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following options gives the correct arrangement of the given places having Mica reserves, from north to south India?
I. Gaya

II. Ajmer

[II. Beawar

Options :
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1% LIL I
2. % IIL 1L 1
3.9 1L 1L 1
4. % L1

Question Number : 42 Question Id : 630680227357 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
&3 (808 DODEOS’ DO &S0 0B B89 arSSTFO SBE S A &0 EOB &), 1DBF Ty, DB
29088 @@oBNOH?

I. 5O

I1. @236

11 D550

Options :

1. & L II, III

2.8 ILIL T

3.YILIL T

4, % N1, 11

Question Number : 43 Question Id : 630680227358 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct regarding the fundamental duties mentioned in the Indian Constitution?

I. The 86™ Constitutional Amendment Act is related to the fundamental duties.
II. “To protect the natural environment’ is a fundamental duty.

Options :

1. % OnlyI

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 43 Question Id : 630680227358 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

25 TPeS0H0ES” 08, [PHNE DE0OE H00HO0D & (0B a7¢3” SBIE/D E/Q?
1. 860 T°23°5005 Q3B IO (PG DENOF HOVO0QODIA.

I <0523 DTEIBET), DOSE 0TIB0° OTE 2.8 (PPWE D).

Options :

1. 8 I 30(ehadd

2. % 11 375

3. ¢ 108w II

4. % 15°0 S 11 5°Q D& 5°¢%0

Question Number : 44 Question Id : 630680227359 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Article 15 of the Indian Constitution provides for prohibition of discrimination on certain grounds. Which of the following grounds is/are
NOT included in it?

I. Religion

I1. Place of birth

II1. Education

Options :

1. % Only I

2. % OnlylandII
3. % Only Il and III
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4. ¢ Only I

Question Number : 44 Question Id : 630680227359 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
28¢5 025505065’ eBESEI0 15 VN SEETFO D DodE. D AEAN0E. &2 (808 ¢3S’ A/ S’
DENDBS?

L. €50

I1. 230882 N0

IIL. D5

Options :

1. % 13575

2. % 10805 II S5 ebadd

3. % 1108050 I S5°(¢h a0

4. ¢ 111 377533

Question Number : 45 Question Id : 630680227360 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the preamble to the Indian Constitution, ‘Liberty’ of which of the following is/are secured for all citizens?
I. Faith

II. Worship

II1. Devotion

Options :

1. % Only I

2. % Only I and I
3. & Only IT and III
4. & Only III

Question Number : 45 Question Id : 630680227360 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

28¢5 T°2350050 TBNE), O (D5°S0, FB0SO8E & 80O ¢3S’ T/SEI TINEY ST B §22CS$0E?
L B0

II. 8T°HS

1. 258

Options :

1. % 1 3°(da

2.9 108050 11 S3°(5 %

3. % 110005 I S35

4. % I S°|Had

Question Number : 46 Question Id : 630680227361 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which is the correct arrangement of the given fundamental rights of the Indian Constitution in increasing order of the number of articles
mentioned within them?

Options :

1. ¢ Right against Exploitation, Right to Freedom of Religion, Right to Equality
2. % Right to Equality, Right to Freedom of Religion, Right against Exploitation
3. % Right to Freedom of Religion, Right to Equality, Right against Exploitation
4. % Right against Exploitation, Right to Equality, Right to Freedom of Religion

Question Number : 46 Question Id : 630680227361 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 1 Wrong Marks : 0
28¢5 T°25°50050 @O0A0DS (RN 5780200 ¢3S’ DT, OESeTE HOWED OO DB DT YN DE?
Options :
1. ¢ DB, QTEOT 57807, 0 525) s7807, Dedradeh ¢ 5780
2. % DAPSEH 55 PEVY, 0 L) SFEVY, DGR, AEEOT T80
3. % o0 DI TPEVY, DTS 3 578, D) AFEOT )
4. % DB, ATEHOT 57807, DTS 8 57807, 0 D523 o380

Question Number : 47 Question Id : 630680227362 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which Part of the Indian Constitution deals with provisions related to the Union?
Options :

1. % PartII

2. % PartII1

3. &% PartIV

4.+ Part V

Question Number : 47 Question Id : 630680227362 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

25 TPeS0H0ES R & DaFN0 NSRS (CAFACNS) Ed H00HODN J2ORIOS 555578 N0E?
Options :

1. % Qexriio Il

2. % deyiio I

3. ® Qo IV

4. % Deyrio vV

Question Number : 48 Question Id : 630680227363 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who among the following can vote in the elections for the appointment of the President of India?
I. Elected members of the Legislative Assembly of Delhi.
II. Elected members of the House of People.

Options :

1. % OnlyI

2. % Only II

3.+ Both I and II
4. % Neither I nor II

Question Number : 48 Question Id : 630680227363 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&3 (808 B’ DSE 23S TR AOITNTAE D) EE 2,0 FaDHE?
L O 0832580 DTS Hhsen.

IL 35770 @39 DS (S5 $25) gy IS HaHsen.

Options :

1. % 1355

2. % 11 30°(eHad

3. ¥ 1 08w 11 By

4. % 15°Q S 11 5°Q & 5°¢D
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Question Number : 49 Question Id : 630680227364 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following shows the correct arrangement of the given Articles of the Indian Constitution on the basis of the ascending order
of their Article numbers?

I. Appointment of the acting Chief Justice

I1. Appointment of the ad hoc Judges

II1. Supreme Court to be a court of record

Options :

1. [ 10, 111
2.8 LIILII
3. IL L III
4. % 1L 1 1T

Question Number : 49 Question Id : 630680227364 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&3 (808 ¢3S’ B 278 eh Toes0N0S R OEBETS HOPSL ST (500 TBNEY DB 90858 TTYen0d?
I. @&) OF (DT T°5000°0 AT E0

1. @) O 25000 QAT E0

1L DOE'L B85 §&r owd

Options :

1.¥ LIL 1

2. % LIILII

3.8 IL LTI

4. % I, 1,11

Question Number : 50 Question Id : 630680227365 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

R0DE 2021 °¢38 &3 (0B T3S’ DO/ 2T ESTFOS 22305 T8 ()T GO/ ON?
L 200GN0E (AIADMK)

IL dodweS 8 8

1L 23N (AWISBR)

Options :

1. % 130(da

2. % 108050 1T S3°(h %

3. % 1000 I S5 ehadd

4. ¢ QET

Question Number : 50 Question Id : 630680227365 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following was/were national political party(ies) in India, as of September 2021?
I. ATADMK

II. Samajwadi Party

II1. Janata Dal (United)

Options :

1. % OnlyI

2. % OnlylandII
3. % Only I and III
4. % None

Question Number : 51 Question Id : 630680227366 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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What is the correct chronological order (first to last) of the formation of the given Indian states as full states of the Indian Union?
Options :
1. % Sikkim, Haryana, Nagaland, Telangana
2. ¥ Nagaland, Haryana, Sikkim, Telangana
3. % Nagaland, Telangana, Sikkim, Haryana
4. % Sikkim, Telangana, Nagaland, Haryana

Question Number : 51 Question Id : 630680227366 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

23 Beh DS TZNEY DOY TGN SIS &8 (80O 23S0 T AFOE) H0D0E0D T°¢3 e3DT?)0 TZNEY,
DB 57(E63) (B0 ([0E5¢3 R0 D38 HBE0) 32

Options :

1. % V80, T, Ter0oR, SO

2. ¢ ey, ST, 080, B0

3. % DTPer0R, BOOMT), 080, FPT°§D°

4. % 180, BOOMEI, I PO, T

Question Number : 52 Question Id : 630680227367 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2SS oS00SR &8 Bod  deriso Horaneded HB0D) (OTOD0E?
Options :

1. % 230 VII

2. % Qeyrtio IX

3. % Do XI

4. % Dzy°tio XIII

Question Number : 52 Question Id : 630680227367 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Parts of the Indian Constitution mentions about the Panchayats?
Options :

1. &% Part VII

2. % Part IX

3. % Part XI

4. & Part XIII

Question Number : 53 Question Id : 630680227368 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Articles of the Indian Constitution provides for a committee for metropolitan planning?
Options :

1. ®% Article 243ZB

2. % Article 243ZC

3. % Article 243ZD

4. % Article 243ZE

Question Number : 53 Question Id : 630680227368 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

255 0255006’ &k (80 & OESOS” s5FIHS (HETDE 800 eI JT)en TFE?
Options :
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1. % Q8890 2437ZB
2. % Q8G90 243ZC
3. % Q880 2437ZD
4. ¢ 9OEB0 243ZE

Question Number : 54 Question Id : 630680227369 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The SVAMITVA scheme is implemented by which of the following Union Ministries?
Options :

1. % Ministry of Panchayati Raj

2. # Ministry Of Earth Sciences

3. % Ministry of Housing and Urban Affairs

4. % Ministry of Urban Development

Question Number : 54 Question Id : 630680227369 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&2 (808 & 0|9 DHO(e3¢h § B°R T° ST° SVAMITVA @9 DGHE0 @900 SOH220e8008?
Options :

1. ¥ DOToN T8 sDO(E3¢h § T2

2. % 25° B (D" O3S § TR

3. % (5o Q0BAW DEIED 03593°T°) DO( €365 § T

4. % DETDIHE 0O e3eh § T°PD

Question Number : 55 Question Id : 630680227370 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&3 1808 e3¢5 Q HOMNEISS F0¢He3 190 AP0 SNADOE?
Options :

1. % B VS0 S0RNFSC0

2. ¥ &S XS 2,60

3. % 2820 QOO £,

4. 8 B 80O )Ses

Question Number : 55 Question Id : 630680227370 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The First World War ended with which of the following events?
Options :

1. & Surrender of the Japanese army

2. ¥ Defeat of the Ottoman Empire

3. & Defeat of the German dictator

4. % Fall of the wall of China

Question Number : 56 Question Id : 630680227371 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who was the writer of the famous book ‘Hind Swaraj’?
Options :

1. & Raja Ram Mohan Roy

2. ¥ Mahatma Gandhi

3. # Lala Lajpat Rai
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4. % Jawaharlal Nehru

Question Number : 56 Question Id : 630680227371 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

OB DT @OFT (DI YV B0 DeI&D?
Options :

[. % 0°2 0o Q0% UP00

2. ¥ 5 o

3. % OPer ORVIST OV

4. % BI30erd J TV

Question Number : 57 Question Id : 630680227372 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding modern Indian history?
I. In 1918, Vallabhbhai Patel led the peasant movement in Bardoli.
II. In March 1930, Mahatma Gandhi began the Civil Disobedience Movement.

Options :

1. % Only I

2. % Only IT

3. % BothIandIl
4. % Neither I nor II

Question Number : 57 Question Id : 630680227372 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e300 2SSO B H020H0D) & 180E ¢3S’ DE/AD DBXIE/ HBIN?
L 191865, 502305 HS erTOS Behd ¢35 AE 008 $0 SeFOTTER.

IL 55°8 ) 193065° s0555&°3 POE TS0 €53, (B0 0T .

Options :

1. % 135753

2. % 11 S°(¢H o

3. % 10805 11 Bockw

4. % 15°Q S 11 5°Q D& 5°¢

Question Number : 58 Question Id : 630680227373 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of year to battle is/are correct?
. 1757 : Battle of Plassey
II. 1764 : Battle of Buxar

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. s Neither I nor II

Question Number : 58 Question Id : 630680227373 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

OINTTIE H020B0NS & (B0 206 DE/ND HBIQ/BID?
L 1757 : 2P OSno

I1. 1764: 2380 AS0Q0

26/71



29/05/2023, 11:03
Options :
1. % 1 3°(da
2. % 11 30°(ehad
3. % 1:.080% I1 Bockw
4. % 1520 S 11 5°Q & 5°¢%0

Question Number : 59 Question Id : 630680227374 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

&3 (808 ¢3S B erSed 2305 SOTRE T €3RI DY DATFIR HOPSE H0DOEOD BH 2B
55800 TINEY DB 1ESTY(EIMNEBID) 18006 Tara)S00E?

Options :

1. ¥ ererc® S8, 080108 B8, 82 Trasnd

2. % D8 AR, NBOSdTE BIY, rrrerod 828

3. % BT BY, HEBD AW, erod &8

4. % QBOSTE B, ey S8, S8 T oS0

Question Number : 59 Question Id : 630680227374 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following shows the correct arrangement of the given personalities with respect to the number of times they have been the
Presidents of the Indian National Congress (in increasing order)?

Options :

1. ¢ Dadabhai Naoroji, Surendranath Banerjee, Sarojini Naidu
2. # Sarojini Naidu, Surendranath Banerjee, Dadabhai Naoroji
3. % Surendranath Banerjee, Sarojini Naidu, Dadabhai Naoroji
4. % Surendranath Banerjee, Dadabhai Naoroji, Sarojini Naidu

Question Number : 60 Question Id : 630680227375 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the chronological order (first to last) of the following events with respect to Indian history?
I. Vasco da Gama discovered a sea route to India.

II. The East India Company acquired a charter from the ruler of England, Queen Elizabeth.

II1. An English factory was set up on the banks of the Hugli river.

Options :

1.« 1,11, 111
2.8 MLILI
3.% LIOLII
4. % 1L 1L T

Question Number : 60 Question Id : 630680227375 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2S00 T35 H0DOEOD &8 (O HOMEISE SOEN0 (RNCHEY O DB SBEE) DEI?
1. ) AT 2373537708 e TR, E0F ) .

11 & R0&OSF 500 R0HOE FOZTeN § 58 IOBBE HOA 28 LB FoLOA.

IIL 500 S 2.0 2,8 €300 ET°PSE0 DT YEN TODVEO.

Options :

1.« L 1L 111

2.% LI T

3.% LILII

4. % 11 1IL 1
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Question Number : 61 Question Id : 630680227376 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
&3 (806 ¢3S 5% €308 S0 (NEP) 199165°Q) 237565 (5525968 § G0 196969 0¢850 oA DE?
Options :
1% SS9ESe
2. ¢ 8886
3. % | 0Se383e
4. % (DHODESE

Question Number : 61 Question Id : 630680227376 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following was NOT a major initiative of the Government of India in the New Economic Policy (NEP) 1991?
Options :

1. & Liberalisation

2. % Unification

3. # Privatisation

4. % Globalisation

Question Number : 62 Question Id : 630680227377 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India, along with the budget, three policy statements are mandated by the Fiscal Responsibility and Budget Management Act,
Options :

1. % 1991

2. % 1993

3. % 2001

4. % 2003

Question Number : 62 Question Id : 630680227377 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2rSESTIOS, DBES e, 308 23°¢95eh DO FE DS £33 &0, T ST° o0°CR DTN (DFISEN
)AN8.

Options :

1. % 1991

2. % 1993

3. % 2001

4.+ 2003

Question Number : 63 Question Id : 630680227378 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0(3 1925065 § 06 DOLS| DBV’ 2,5%83¢3 2,57 S ABI0IT0W. SFOCOTS J87¢35 ) ONBE e
DEI?

Options :

1. % 0%Seh)

2. ¢ 358ed)

3. % ABS) SPoT

4. % ABSY SPo 11

Question Number : 63 Question Id : 630680227378 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

Each of the Central Public Sector Enterprises is designated with a different status. What is the status of Hindustan Aeronautics Limited?
Options :

1. # Maharatana

2. ¥ Navaratna

3. % Miniratna category |

4. % Miniratna category II

Question Number : 64 Question Id : 630680227379 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2rESTFOS, 308 AP0 TINEY OF SO 'DSTB0 TINEY A0S SeNT™ I & 1808 AaresS” OO
SPENR GO&?

Options :

1. % § 388 D50, 1991

2. ¢ JPBF°NE A0, 1956

3. % §¢ 388 D0, 2001

4. 8 JrOFNE DGO, 1999

Question Number : 64 Question Id : 630680227379 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India, which of the following policies was based on the establishment of a ‘socialistic pattern of society’ as the goal of economic
policy?

Options :

1. % New Economic Policy, 1991

2. % Industrial Policy, 1956

3. % New Economic Policy, 2001

4. % Industrial Policy, 1999

Question Number : 65 Question Id : 630680227380 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With respect to the Indian economy, which of the following pairs of Five-Year Plans and their time periods is/are correct?
L. Fifth Five-Year Plan — 1980-1985
II. Third Five-Year Plan — 1961-1966

Options :

1. % OnlylI

2. % Only IT

3. % BothIandII
4. % Neither I nor II

Question Number : 65 Question Id : 630680227380 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

255 €308 $55050 H0D0HOD, & (OB HOTINEG DT DI HBO5N 37¢3 °1959¢NDOES” DE/DD DB SE/DBSD?
1. 06365 HOINEG (DT - 1980-1985
11 305°¢883 DN DT DE - 1961-1966

Options :

R RGERY

2. % 11 S5

3. % 10805 I Bockw

4. % 15°0 S 11 5°Q & 5°¢%0
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Question Number : 66 Question Id : 630680227381 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
2011 32> BEY [HSS0 2SS T30S o DA DOes?
Options :
1. % (D8 ToNS 0 | 943 HOE HBAEN
2. ¢ 108 WS H0E HEXVEOE 943 SO (e
3. % (D TOWS OB (RO 933 0 HADEN
4. % 1D oW S0 HEDEE 933 SHOE (e

Question Number : 66 Question Id : 630680227381 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the sex ratio in India as per Census 2011?
Options :

1. ®% 943 males per thousand females

2. % 943 females per thousand males

3. % 933 males per thousand females

4. % 933 females per thousand males

Question Number : 67 Question Id : 630680227382 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Indian schemes is related to combating the trafficking of women and children?
Options :

1. # Saubhagya scheme

2. ¥ Ujjwala scheme

3. % Pahal scheme

4. % Nari Shakti scheme

Question Number : 67 Question Id : 630680227382 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&3 (808 ¢3S & 27BN DHEO sHEFFEN HOA DL e9|Ee BaFeTedd AEEOTIOCHE 9D TONBSIOE?
Options :

1. % Jeris D80

2. ¢ &350 D80

3. 8% DO DHEO

4. % o0 3§ Do

Question Number : 68 Question Id : 630680227383 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following tribes of Andaman and Nicobar islands falls under the category of Particularly Vulnerable Tribal Group (PVTG)?
Options :

1. & Birhor

2. % Lodhas

3. # Totos

4. % Jarawas

Question Number : 68 Question Id : 630680227383 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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€90CHXTS NBAW D828 BHOS &2 (80O BHOS B (DB80D) I EDAOT AB2S B (PVTG) HG0SE
SN0H?

Options :

1. % DB

2. % ST

3. % SR

4. & BOQ

Question Number : 69 Question Id : 630680227384 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which district are the Kuntala and Pochera waterfalls located?
Options :

1. # Hyderabad

2. % Adilabad

3. % Nirmal

4. % Jagtial

Question Number : 69 Question Id : 630680227384 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B00850 DA TS BOFEEN &) 2SS’ ) ON?
Options :

1. & 200008

2. ¥ 3OS

3. % Q8O

4. % 30@°§©O

Question Number : 70 Question Id : 630680227385 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

The development of Irrigation in Telangana is mostly dependent on which two rivers and their tributaries as one of the important source of
irrigation in the state?

Options :

1. % Godavari and Manjra

2. % Godavari and Krishna

3. &% Krishna and Tungabhadra
4. % Godavari and Bhima

Question Number : 70 Question Id : 630680227385 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BSOS DT EHD DNHE T & BOK SN BN °¢3 EISCND T DBV eSO Go&?
Options :

1. % FcP98 0805w o2doe

2. ¢ B0 S0Ba0 Syar

3. % €N J0BT5 S3062(ES

4. % FEra0 AN D

Question Number : 71 Question Id : 630680227386 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
BOOTLIS R SSTENE ESOIPSETSEN 0O 20N ETTFIST O H0DOEOD 180G S7CH (DEESE
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STEOT 80 DODEDS DA HOTIE?

L Pg5e DSX0.) 0B8N HISTENS 92505 BEAS0 BOOMPEIES ' D0 BPS” GO

IL SPTB0 €855E) 30805 SIJETENE 9250530 BLOMPEISTR ST 22 0B 15 km 5806’ &0&.
1L S0I*DE 889 HSVO 2D T8I0 3TN TerES’ &08.

Options :

1. ¥ DODE T 37°(¢hadd O

2. % QODE I 7B DO

3. % 0D I S(ad BSAD

4. % 108N I DODEEN BOF OB

Question Number : 71 Question Id : 630680227386 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

Which of the following option is incorrect on the basis of the three statements given below with respect to wildlife sanctuaries and
National parks in Telangana?

I. Pakhal Lake nd Wildlife Sanctuary is situated in Khammam district of Telangana

II. Pochram dam and wildlife sanctuary is 15 km from Medak district of Telangana

II1. Mahavir Harina Vanasthali National Park is situated in Hyderabad

Options :

1. % Only option I is incorrect

2. # Only option II is incorrect

3. % Only option III is incorrect

4. % Both option I and II are incorrect

Question Number : 72 Question Id : 630680227387 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the name of the pension scheme introduced by Telangana Government with a view to ensure secured life with dignity for all the
poor.

Options :

1. ®% Atal Pension Yojana

2. ¥ Aasara Pension Scheme

3. % Pradhan Mantri Suraksha Bima Yojana
4. % Ladli Scheme

Question Number : 72 Question Id : 630680227387 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2088 FESDCTRS OBE SRS B, O YOTOR SPIOS BOOTTE (206550 (DIFDED DOS
DHEO ANEY DR DANEI?

Options :

1. % @8O DOV BB

2. ¢ &8J0° DO DPEo

3. % (DTS D0 SF. DX DZresd

4. % e@Q HHEO

Question Number : 73 Question Id : 630680227388 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which of the following district the Thousand Pillar Temple located?
Options :

1. % Hanumakonda

2. #% Hyderabad

3. ® Kamareddy

4. % Karimnagar
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Question Number : 73 Question Id : 630680227388 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

3o Qozre HB & 80d Q B’ God?
Options :

1. ¥ Q0T 0

2. % 20°ATS

3. % S0

4. % 8860366

Question Number : 74 Question Id : 630680227389 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following option is correct on the basis of the two statements given below with respect to current literacy rate in Telangana?
I. The male literacy rate is 74.95%
II. The female literacy rate is 67.92%

Options :

1. % Only option I is correct

2. # Only option II is correct

3. & Both option I and II are correct

4. % Both option I and II are incorrect

Question Number : 74 Question Id : 630680227389 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SOOI (WS 8 TS5 BENZL D000 BN RS 5ES BOK (HELDI &SSO 808 DODESS’ D
QBIE?

I S)éo&p@ @8 T°05ed BED 74.95%

1L [ 95 07055 BEW 67.92%

Options :

1. % QONET X7Ha DBID

2. % QODE I ST(H OB

3. % 1080 I QODEEN BOCK® OB

4. ¥ 108050 1T QODEN BOLKT OB 5%

Question Number : 75 Question Id : 630680227390 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana is the only State in entire Southern India with vast deposits of
Options :

1. ¢ Coal

2. % Aluminum

3. & Iron

4. % Magnesium

Question Number : 75 Question Id : 630680227390 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[0S0 S8 6 rSSTIoS QB e ANYSOMT K> DI T°( R0 BOOMTED.
Options :
1. ¢ S

2. 8 QTEACNO
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ERE I INVINW
4. % dHYAAHO

Question Number : 76 Question Id : 630680227391 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following option is correct on the basis of the two statements given below with respect to power and energy in the Telangana
state?

I. Telangana state has the third largest power utility in the country with installed capacity of 4365.30 MW.

II. The State has 60 power generating projects out of which 15 projects are conventional, while remaining are non-conventional plants.

Options :

1. % Only option I is correct

2. & Only option II is correct

3. % Both option I and II are correct
4. % Both option I and II are incorrect

Question Number : 76 Question Id : 630680227391 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ DODE T J(badd QTS

2. % 0N I S50 DTS

3. % 1000 I QOEEN BOLT OB

4. % 10O I ODEEN BOKF OB S°e)

Question Number : 77 Question Id : 630680227392 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Bidri craft is the pride of the Telangana region. Bidri art involves using an alloy of Copper and Zinc, called
Options :

1. % Brass

2. % Metal

3. % Gunmetal

4. % Black metal

Question Number : 77 Question Id : 630680227392 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

DB 8¢ Bor0rred (Broerd8 (85575800, DS S Q) DOHDT T°H HOOSW 2808 S TW(FST)
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Options :

1. % 2B

2. % DO

3. ¢ 1Q DS

4. % 25 DS

Question Number : 78 Question Id : 630680227393 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
SBOOMEIZ TOAD E5° S EFE H0D0A0D 808 ¢3S DA HBIE 5°¢0?
Options :
1. ¥ 85 B &5 oYS DOS (59 @ $5°6° @90erdd
2. % SOPerE BPS' BIrE 0G0, &0, DLSSBS’ 28 DOJM EADN0A
3. % BOBS EFOS 285750200, ABBS Tedhen VB SNHeN e5eh 18 TaHdseEon.

4. % 88 DS’ 237N DTN, FeNE0Y, DN, HO[Tren, FOT AT, B 0E3Een HBAN RS e
B QNOAN APO(DTPANE TN EOLTON.

Question Number : 78 Question Id : 630680227393 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT correct with respect to Dokra Metal Craft of Telangana?
Options :

1. ¥ Dhokra or Dokra is also known as Temple metal craft

2. # It is widely seen in Jainoor Mandal, Ushegaon and Chittalbori in Adilabad district

3. % The tribal craft produces objects like figurines, tribal gods, etc.

4. % The work consists of folk motifs, peacocks, elephants, horses, measuring bowl, lamp caskets and other simple art forms and
traditional designs.

Question Number : 79 Question Id : 630680227394 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT correct with regards to the Yakshagana Chindu Bhagawatham art form of Telangana?
Options :

1. & A variant of Yakshagana, Chindu Bhagavatham is performed widely across Telangana

2. @ Itis a theater art form that combines dance, music, dialogue, costume, make-up, and stage techniques with a unique style and form.
3. % The word ‘Chindu’ in Telugu means ‘dance’.

4. % Most of the stories narrated are from ‘Bhagavatam’

Question Number : 79 Question Id : 630680227394 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % ODETS Erar0esd DO 20 B0 €90BET DQHSBOMT (D380t B0E

2. % A (NBENS 3O HOAW 389 BS 39850, 50, TR, LA, 0ED B0 IEE NP IO EO 28
BDED EeErHo.

3. ¢ DS DO @ D8 @80 ‘Syehs0’.
4. 8 235550’ EGEN DBV ST T YT ON.

Question Number : 80 Question Id : 630680227395 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 2 38, onoe3oh
2. ¥ 280, DO2roNd
3. % S00¢sen, Dowoe3oh
4. % 50N, DON0E3oN

Question Number : 80 Question Id : 630680227395 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 1 Wrong Marks : 0

Banjara Needle Crafts are the traditional handmade made by Banjaras (the tribal Gypsies) in Telangana. It is a form of
and mirror work.

Options :

1. % handicraft, painting
2. % fabrics, embroidery
3. & pots, painting

4. % bells, painting

Question Number : 81 Question Id : 630680227396 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a correct option on the basis of the two statements given below regarding Bathukamma in Telangana?
I. Bathukamma, a part of Dasara festivities, is unique to Telangana.
II. Making circles around the assembled Bathukammas, womenfolk recite songs in a group. The songs have their roots in Tribal History

Options :

1. % Only option I is correct

2. & Only option II is correct

3. % Both option I and II are correct

4.« Both option I and II are incorrect

Question Number : 81 Question Id : 630680227396 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 82 Question Id : 630680227397 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following option on the basis of the four statements given below is correct with respect to Nirmal Arts of Telangana?
I. The renowned Nirmal oil paintings use pure gold and silver for painting.

II. These paintings depict themes from the epics such as Ramayana and Mahabharata

II1. The origin of the Nirmal craft is traced back to the Kakatiya era

I'V. The motifs used for Nirmal craft are floral designs and frescoes from the regions of Ajanta and Ellora and Mughal miniatures

Options :

1. % Only option I is incorrect
2. % Only option II is incorrect
3. & Only option III is incorrect
4. % Only option IV is incorrect

Question Number : 82 Question Id : 630680227397 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ DODE I S(ehadd DO5°CH

2. % DOVE I ST DS

3. % 0N I S5(ehad DO

4. % DODE IV S°(hadd DS

Question Number : 83 Question Id : 630680227398 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following does not correctly match?

Options :

1. ¥ Gunadhya - First poet of Telangana

2. % Mallikarjuna Pandita — First shaivate poet of Telangana

3. % Adi Kavi Pampa - court poet of Arikesari I1

4. % Bammera Pothana - the first Indian King who translated the Ramayana from Sanskrit to Telugu

Question Number : 83 Question Id : 630680227398 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 630680227399 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the name of the composers and writers in the increasing order of the period in which they belonged?

I. Somadeva Suri Composed Yashodhara-charita

II. Kakatiya Rudradeva Nitisara: It is a Telugu work dealing with taxes and trade during Kakatiya Rudradeva

II1. Maha Kavi Palkuriki Soman Mallikarjuna Pandita The first shaivate poet of Telangana.

IV. Jaya Senapathi Nrittaratnavali: This is a work in Sanskrit written by Jaya Senapathi the general and minister of Ganapatideva

Options :

1. LI 1L 1V
2.% LILIL IV
3.8 LIV L IT
4. % IV, 1L 1L 1

Question Number : 84 Question Id : 630680227399 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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3.% LIV, LI
4. % TV, TIL 11, T

Question Number : 85 Question Id : 630680227400 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

is the flagship scheme of all health initiatives of the Telangana Government with a mission to provide quality healthcare to the
poor.

Options :

1. % Nirogya
2. % Aayusha
3. % Aarogyasri
4. #% Amrita

Question Number : 85 Question Id : 630680227400 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Q8K
2. % SO
3. s8%51?
4. % @y

Question Number : 86 Question Id : 630680227401 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following option is INCORRECT on the basis of the three statements given below with reference to Mecca Masjid of
Telangana?

I. The historic Mecca Masjid is located adjacent to Charminar in a south-west direction.

II. The construction of this mosque started in the year 1614 by Sultan Muhammad Qutb Shah

II1. Aurangzeb got it completed in 1700

Options :

1. % statement I is incorrect
2. % statement II is incorrect
3. % statement III is incorrect
4. % No statement is incorrect

Question Number : 86 Question Id : 630680227401 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % (081385
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Question Number : 87 Question Id : 630680227402 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Which of the following is Correct Chronological order of the history of the heritage sites and museum in Telangana?
Options :
1. % Charminar > Golkonda fort >Domokonda Fort > Archaeological and Heritage Museum
2. % Golkonda fort > Charminar > Domokonda Fort > Archaeological and Heritage Museum
3. # Archaeological and Heritage Museum > Golkonda fort > Charminar > Domokonda Fort
4. % Domokonda Fort > Archaeological and Heritage Museum > Charminar > Golkonda fort

Question Number : 87 Question Id : 630680227402 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 630680227403 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Correctly Match the following dishes of Telangana with the raw material which is used to prepare these.

Dish Raw Material

I. Kodi pulusu and vepudu | a. Spinach and Lentils

II. Venkaya Podichalli b. Potata

IT1. Aloogadda c. Brinjal
IV. Palakura d. Chicken
Options :

1. % La Il b; I c;IV.d
2. % LbyIl.c; III.d; IV. a
3.8 Lc;II.b; III. d; IV. a
4. ¥ 1.d;1Lc; 1L b;IV. a

Question Number : 88 Question Id : 630680227403 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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1. % La;IL b; Il ¢; IV. d
2. % Lby Il c; III. d; IV. a
3.8 LeIl.by III.d; IV. a
4. 1.4 1Lc 1L b;IV.a

Question Number : 89 Question Id : 630680227404 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Correctly pair the following dance forms of Telangana and their description.

Dance form Description

I. Dandari- Gussadi a. tribal dance form that Porja caste women present.

II. Dhimsa b. folk dance of Telangana performed by the Banjara tribe.
II1. Lambadi c. dance of warriors presented by men

IV. Perini Thandavam | d. dance for gods of the Adilabad district

Options :

1.¥1.d;1 a; II1.b; IV. ¢
2.8 L. Il a; III. b; IV. d
3.% Lay Il c; III. b; IV. d
4. % 1.b;I1.d; III. a; IV. ¢

Question Number : 89 Question Id : 630680227404 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 1.d;1. a; II1.b; IV. ¢
2. % LIl a;III. b; IV. d
3.% Lay Il c; III. b; IV. d
4. % 1.b;11.d; III. a; IV. ¢

Question Number : 90 Question Id : 630680227405 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the correct order of era of the Telugu literature scholars if era is set in the earliest-first order?
Options :

1. ¥ Maha Kavi Palkuriki Somanatha > Ganapati Deva > Baddena > Prataparudra Yasobhushanam

2. # Ganapatideva > Maha Kavi Palkuriki Somanatha > Baddena > Prataparudra Yasobhushanam

3. # Prataparudra Yasobhushanam > Maha Kavi Palkuriki Somanatha > Ganapatideva > Baddena
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4. % Baddena > Maha Kavi Palkuriki Somanatha > Ganapatideva > Prataparudra Yasobhushanam

Question Number : 90 Question Id : 630680227405 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 91 Question Id : 630680227406 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 91 Question Id : 630680227406 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is incorrect with reference to WE Hub start-up in Telangana?
Options :

1. % WE Hub is a start-up incubator exclusively for women entrepreneurs.

2. % WE Hub aims to support women entrepreneurs with innovative ideas, solutions and entities focusing on emerging areas in
technology.

3. ¥ WE Hub will only support the Service sector.

4. % The mandate and goal of WE Hub is to eliminate financial, societal and support barriers for women and help them succeed in their
enterprises.

Question Number : 92 Question Id : 630680227407 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana Government launched a pioneering initiative ‘KCR Nutrition Kits’, which is aimed at
Options :

1. % Reducing anemia and improving hemoglobin levels in children below five years of age.

2. ¥ Reducing anemia and improving hemoglobin levels in pregnant women.

3. % Reducing anemia and improving hemoglobin levels in adolescent girls.

4. % Reducing Anemia and improving hemoglobin levels in women of all ages.

Question Number : 92 Question Id : 630680227407 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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2. ¢ 58363 [QOS BE575¢5e HN0TIH0 N FPRPADS e SoSoHISTISO0.
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4. % ©Q) S0 S’ SEEPSS SHOTIHO OO TIPS D aN®D DoBEHDSETISO.

Question Number : 93 Question Id : 630680227408 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following option is correct on the basis of following two statements with respect to government of Telangana’s health
related policies?

I. The Telangana State Government to achieve “avoidable blindness-free” status by conducting a Comprehensive and Universal Eye
Screening for the entire population of the State under the title 'Kanti Velugu'.

II. Arogya Lakshmi Scheme provides one nutritious meal every day to pregnant and lactating women and children below the age of six
through Anganwadi centres.

Options :

1. % Only statement I is correct

2. # Only statement II is correct

3. ¢ Both statements I and II are correct
4. % Both statements I and II are incorrect

Question Number : 93 Question Id : 630680227408 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 94 Question Id : 630680227409 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When was the statehood bill for formation of Telangana state passed by both the houses of Parliament?
Options :

1. & January 2014

2. ¥ February 2014

3. % March 2014

4. % April 2014

Question Number : 94 Question Id : 630680227409 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. & 283582014

2. ¥ D58 2014

3. % 382014

4. % DO 2014
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Question Number : 95 Question Id : 630680227410 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In the first Telangana movement, intellectuals and political leaders gave memorandums to States Reorganisation Commission containing
historic, political, economic, social and cultural justifications for creating separate Telangana state. Who amongst the following was NOT
one of those representatives?

Options :

1. % Prof Jayashankar

2. #% Sri HC Heda

3. # Sri Konda Venkat Ranga Reddy
4. % Shri HN. Kunzru

Question Number : 95 Question Id : 630680227410 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Which of the following option is correct on the basis of following two statements with reference to the history of the formation of
Telangana state?

1. During the period between 1955 September and 1956 November, the people of Telangana launched a series of protests demanding
statehood by implementing the SRC recommendations.

I1. But intense lobbying by leaders from Neighbour state in New Delhi resulted in the merger of Telangana region in Neighbour state to
form the Telangana state.

Options :

1. # Only statement I is correct

2. % Only statement II is correct

3. & Both statement I and II are correct

4. % Both statement I and II are incorrect

Question Number : 96 Question Id : 630680227411 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
Match the following events about the formation of Telangana state with the vear in which they happened.

Event Year

I. As the UPA government continued to dilly-dally on the decades old demand for Telangana | a. 2009
state, KCR resigned to his ministry

II. TRS party ML As resigned also walked out of the state government in protest against the | b. 2006
delay in Telangana formation

III. TRS allied with TDP, CPI and CPM parties c. 2008
IV. the UPA government started the statehood process d. 2013
Options :

1.¥ 1 b;Il.c;II.a;IVd
2.% Lall.c;lIl.b;IVd
3.% LellLa;III.d; IVD
4. % 1.d;I1.c; 1. a;IVD
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Correct Marks : 1 Wrong Marks : 0
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1. &% IILIL LIV
2.8 ILTL LIV
3.9 1L 111, IV
4. % TV, I, 1L, T

Question Number : 98 Question Id : 630680227413 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct chronological order(From first to last) for the four events related to demand for formation of Telangana
state?

I. unit of the Bharatiya Janata Party (BJP) passed a resolution seeking a separate Telangana

II. Sri Kalvakuntla Chandrashekar Rao (KCR), who was then the Deputy Speaker of AP State assembly, had started background work on
Telangana issue

II1. After detailed discussions and deliberations with a plethora of Telangana intellectuals, KCR announced the launch of Telangana
Rashtra Samithi

IV. TRS entered into a poll alliance with Congress party

Options :

1.&% ILILLIV
2% ILTL T IV
3.9 1L 111 IV
4. % TV, I, 1L, T

Question Number : 99 Question Id : 630680227414 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs has incorrect/wrong information in its second part?

Options :

1. # As an economic, social, cultural and historical entity Telangana has a glorious history 2500 years or more

2. # Remnants of iron ore smelting found at many places demonstrate the hoary roots of artisanship and tool making in Telangana for ----
--at least two thousand years

3. ¥ Megasthenes, who visited India in the 4th century BCE, wrote that there were 30 fortified towns of Andhras ----- and a majority of
them were not in Telangana.

4. % One of the first five disciples of the Buddha, Kondanna is a typical name from Telangana the earliest known Buddhist township of
Kondapur in Medak district is believed to be after him.

Question Number : 99 Question Id : 630680227414 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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Which of the following events are in first happens first order?

Options :

1. % People of Telangana started organizing themselves under various organizations with a demand for separate state of Telangana.>

KCR resigned to the Karimnagar Lok Sabha seat and won it with a thumping majority.>
The state unit of the Bharatiya Janata Party (BJP) passed a resolution seeking a separate Telangana.>
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After 4 years of peaceful and impactful protests, the UPA government started the statehood process and concluded the process by passing
the statehood bill in both houses of Parliament

2. % People of Telangana started organizing themselves under various organizations with a demand for separate state of Telangana.>
The state unit of the Bharatiya Janata Party (BJP) passed a resolution seeking a separate Telangana.>

After 4 years of peaceful and impactful protests, the UPA government started the statehood process and concluded the process by passing
the statehood bill in both houses of Parliament >

KCR resigned to the Karimnagar Lok Sabha seat and won it with a thumping majority.

3. # The state unit of the Bharatiya Janata Party (BJP) passed a resolution seeking a separate Telangana.>

KCR resigned to the Karimnagar Lok Sabha seat and won it with a thumping majority.>

People of Telangana started organizing themselves under various organizations with a demand for separate state of Telangana.>

After 4 years of peaceful and impactful protests, the UPA government started the statehood process and concluded the process by passing
the statehood bill in both houses of Parliament

4. ¥ People of Telangana started organizing themselves under various organizations with a demand for separate state of Telangana. >
The state unit of the Bharatiya Janata Party (BJP) passed a resolution seeking a separate Telangana. >

KCR resigned to the Karimnagar Lok Sabha seat and won it with a thumping majority. >

After 4 years of peaceful and impactful protests, the UPA government started the statechood process and concluded the process by passing
the statehood bill in both houses of Parliament

Question Number : 100 Question Id : 630680227415 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 101 Question Id : 630680227416 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct chronological order of events for formation of Telangana from 1947 to 1970?

i. Hyderabad remained an independent princely state for a period of 13 months

ii. People of Telangana region in Hyderabad state, started organizing themselves with a demand for separate state

iii. People of Telangana region submitted several memorandums to the SRC and expressed their wish to constitute Telangana as a separate
state

iv. The Commission submitted its report and recommended formation of Telangana state.

Options :
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1. % iv, iii, i, ii
2. % iii, i, i, iv
3.9 i, i, iii, iv

4. % 1v, 1ii, 11, 1
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Options :

1. 8 iv, iid, i, ii

2. % iii, ii, 1, iv

3.9 4, i, dii, iv

4. & iv, iil, i1, 1

Question Number : 102 Question Id : 630680227417 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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Which of the following option is correct on the basis of following three statements with reference to socio-cultural history of Telangana?
1. For about one thousand years (400 BCE-600CE), non-Brahmanical religious and cultural traditions flourished in Telanagana, shaping
the socio-cultural ethos in the most formative period of its history.

II. As anti-Brahmanic religions condemned caste hierarchy, social discrimination, and women enslavement, Telangana society evolved
based on the non-Aryan communitarian ethic.

I11. Elements of pre-Vedic social cohesion as prevalent in the tribal society were discontinued.

Options :

1. % Only statement I is incorrect
2. & Only statement II is incorrect
3. % Only statement III is incorrect
4. # All statements are correct

Question Number : 102 Question Id : 630680227417 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 103 Question Id : 630680227418 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT correct with reference to bordering states of Telangana?
Options :

1. % Telangana is bordered by the state of Maharashtra to the north

2. % Chhattisgarh to the east

3. ¥ West Bengal to the west

4. % Andhra Pradesh to the east and south

Question Number : 104 Question Id : 630680227419 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following option is correct on the basis of following two statements with respect to history of religions in Telangana?
I. Till 6th century, Telangana was predominantly ruled by the Buddhist and is the home of Mahayana Buddhism.
II. From the 15th century onwards Islam began to spread in this region.

Options :

1. % Only statement I is correct

2. % Only statement II is correct

3. % Both statements I and II are correct
4. % Both statements I and II are incorrect

Question Number : 104 Question Id : 630680227419 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Which of the following option is correct on the basis of following two statements with respect to given dance forms of Telangana?

I. Burra Katha is a form of dance which has evolved from a dance called Tandana Katha.

II. Burra Katha is mainly performed by a group of five main artists in the centre.

II1. Bhamakalapam and Gollakalapam are famous traditional dances which emphasise on the moral values initiated by Sidhenra Yogi.

Options :

1. @ All the three options are incorrect
2. % Only option I is incorrect

3. % Only option II is incorrect

4. % Only option III is incorrect

Question Number : 105 Question Id : 630680227420 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0
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Correct Marks : 1 Wrong Marks : 0
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According to the Department for Promotion of Industry and Internal Trade (DPIIT), between October 2019-June 2022, FDI inflow in
Telangana stood at US$ 3,994 million. The state ranked in India in terms of FDI inflow.

Options :
1. % 5t
2. % 6th
3. % 7t
4.« gth
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To check rising incidents of crime against women, the Telangana government has constituted a seven member committee to advise it on
the measures to be taken for the safety and security of women and girls. Out of 77 recommendations by this committee, one was to form
to keep tab on the eve-teasers and stalkers in crowded places.

Options :

1. % MOTHER Teams
2. % WOMAN Teams
3. % SHE Teams

4. % LADLI Teams
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Options :

1. % MOTHER ¢3&0)

2.  WOMAN ¢3&)

3.+ SHE ¢30)

4. % LADLI ¢3&0)
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Who among the following become the first Home Minister of Telangana state?
Options :

1. ®# Kadiyam Srihari

2. % G. Jagadish Reddy

3. % Jogu Ramanna

4. ¥ Nayini Narsimha Reddy

Question Number : 108 Question Id : 630680227423 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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Which of the following statements is correct with reference to formation of Telangana state?

Options :

1. % First General elections in newly created state of Telangana were held in April 2014

2. % In 2018 State Assembly elections in Telangana, Telangana Rashtra Samithi emerged victorious by winning 63 of the 119 seats
3. % Sri K Chandrashekar Rao was sworn in as the First Chief Minister of Telangana

4. % The Telangana state was inaugurated formally on May 21, 2014.

Question Number : 110 Question Id : 630680227425 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Pochampally and Gadwal, represent name of which products of Telangana?
Options :
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1. # Men’s wear
2. % Sarees
3. % Paintings
4. % Dance forms
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B350 )a*), 8. F G308y 303 RS BOCssd PS03 A 550 )08, € 8 A8 SIS 07¢8sS 0" B 550 )08.
€900 F & 50& S P05 P06, eI S50 )a) 07

Options :

1.¥C

2. % A

3.% E

4. % B

Question Number : 111 Question Id : 630680227426 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Six girls A, B, C, D, E and F are sitting in a row facing towards east (not necessarily in the same order). Two girls are sitting between F
and D and F is sitting at one of the end. A is second to the right of F. B is third to the left of C.
Who is sitting fourth to the right of F?

Options :
1.¥C
2. % A
3.% E
4. % B

Question Number : 112 Question Id : 630680227427 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Five boys A, K, L, M and P are sitting around a circular table facing opposite to the centre. K is to the immediate right of A. M is second
to the left of A. L is the neighbour of A and M.
Who is sitting to the immediate right of P?

Options :
1.¥M
2.8 K
3.8 A
4. % L

Question Number : 112 Question Id : 630680227427 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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A, K, L, M 083050 P @ 50¢0ME0 €923)a0e0 28 3987578 Ta2n® t0EY” Zo(ErE)Snmorr 530 )a) 8. A 80 68,60
B0 IS K EE0 )%, 68. A 50 8 S BB S0 M 37850 Ja). ¢80. A sDBOIM M © TB0Ey, PSHS L
Eon) .

O P 8 8 £ F0Q JYN eI 0 )T°) &K0?

Options :

1.¥M

2.8 K

3.8% A

4. % L

Question Number : 113 Question Id : 630680227428 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

2,53 &2 HETB0 oSV, 21 Fered $T° 5 & T SQ0E?
Options :

1. & 8080

2. % 3Q°60

3. % (HS>S0

4. ¢ HES0

Question Number : 113 Question Id : 630680227428 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If today is Friday, then what will be the day after 21 days?
Options :

1. % Sunday

2. #% Saturday

3. % Thursday

4. ¥ Friday

Question Number : 114 Question Id : 630680227429 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Mayur is standing in row having 56 people in total. His rank from the start of the row is 26. What is his rank from the end of the row?
Options :

1. % 32

2. % 29

3.9 3]

4. % 30

Question Number : 114 Question Id : 630680227429 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

RS0 56 0B EOR $HS), 28 SEIS” O D2 € ¢8d. HED (FPB0Z50 O 5 T°SOED 26. SED
D30 NOG e T°S050 DOCS?

Options :

1. % 32

2. % 29

3. % 3]

4. % 30

Question Number : 115 Question Id : 630680227430 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Which day of week was it on 4 September 2015?
Options :
1. % Wednesday
2.+ Friday
3. # Thursday
4. % Saturday

Question Number : 115 Question Id : 630680227430 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
4202085 2015 & TS0 & Fo* SH0E?
Options :

1. & 2080

2. ¢ PG00

3. % (DGO

4. 8 3Q>°G0

Question Number : 116 Question Id : 630680227431 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
Study the given diagram and answer the question that follows.

The diagram shows the number of bottles of different types.

a6 Red

19
32 :
63 25 18 — Plastic

/ 31 \— Square

Arrange the following in the increasing order of their numbers.

1. Square plastic (not red) bottles
II. Red plastic (not square) bottles

III. Red square (not plastic) bottles
Options :
& II<I<Il
2.8 II<II<I
3. II<II<I
4.8 HNI<I<II

Question Number : 116 Question Id : 630680227431 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
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QO DEFDY IGO0 B3R, & S00 PI) D VOV WIOC..

D0 DD G570 VIO DOV SN0,

a6 Red

63 45 32 18 —— Plastic

/ 31 \— Square

£9:0a0°0) PRS-

19

Red- Java; plastic- gR5: square- SSOGEY
& Sob TOD O VoL DO BT Sa00oes” 9000l

L S8000%) R85 (DM SPtnaoetd) HJren

)
IL D5y RS (BEOOREY S70e0H0ed) Dren

IIL XDEY) SESOGRY) (FR5 SPHen00td) dJPen

Options :

. & [I<I<IIO
2.8 II<NI<I
3. II<II<]
4. % NI<I<II

Question Number : 117 Question Id : 630680227432 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be
at variance with commonly known facts, decide which of the given conclusions logically follow from the statements.

Statements:

LAl X are Y.

II. A1 Y are Z.

III. Some X are A.

Conclusions:

[. Some Y are A.

II. Some Z are A.

III. Some X are A.

Options :

1. ® Both conclusions I and II follow

2. # Both conclusions I and III follow

3. # Both conclusions II and III follow

4. % All conclusions follow

Question Number : 117 Question Id : 630680227432 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

235 5203 [DEEIDRD SOOI BT (IS 59908, (DESS’ 25 $23BS DIFPTTE0 FETBE0MT BOJS
TRTOS DBANDLEN EI0DINIEE, FAHNR DOHBOD, BS50RS BT DA (HEELIOK &0 o

9 NONOE APonosod.

RSIIARNSW

[ Q) XenY en.

I1. ©Q) Y &0 Z e.

ML Q) X e A e.
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ST

LEA) Y e Ae.

IL §Q) Z e A .

I §Q) X e A e.

Options :

1. 8% 0070 [ B0 I BOGT 908 0m
2. % S0 [ BN I BOKBT 9B 0N
3. % ST I DO I BOCER® edOET 0w

4. ¢ €9 STUTEN ONIETON

Question Number : 118 Question Id : 630680227433 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

Study the following series of letters and special characters.

Leftt) A@I#T@P*Q&"$#GKL (Right)

How many special characters are followed by another special characters when counting from left to right?
Options :

1. % 2

2.% 5

3.3

4. % 4

Question Number : 118 Question Id : 630680227433 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

&% 1335 @08 Tren SHOAN (HB5E @8 Trered HBFO0I0A.

(DA @I#T@P*Q& $#GKL(ZHG)

D280 OB F0A8 B 0TI I A, (DSBS €0 Toen &3°¢3 $0° s6d Srre |DB5E @ Tred DA &) o0?
Options :

1. & 2

2. % 5

3.¥3

4. % 4

Question Number : 119 Question Id : 630680227434 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Maximum marks of five exams D, K, F, P and R are compared. Maximum marks of each exam are different. Maximum marks of D are
more than F and K. Maximum marks of R is more than P and maximum marks of P is more than D. Maximum marks of K is not the least
among them. If the maximum marks of K is 190, then what can be the maximum marks of P?

Options :
1.9 194
2. % 186
3. % 188
4. % 189

Question Number : 119 Question Id : 630680227434 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

D, K, F, P 08050 R @03 5063 D850 88 557650300 & 3200, (2963 H8E.E’ 50 $55°503,00 5,0 €0¢3°0m. D
TBNEY HOR 3520260 F 308050 K @ 0T D80963. R B30E) (1862 83580200 P 0TI 080265 808 A30 P 3308y, (18
S3E0200 D 0T D05, K TB0EY B0 302,00 FS0S8S” $Q0 S°¢. K O30E), B8R 357503 e 190 00w s, P
TBEY O 3020 D) AN EOCHITN)?

Options :

1. ¥ 194

55/71



29/05/2023, 11:03

2. % 186
3. % 188
4. % 189

Question Number : 120 Question Id : 630680227435 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Weight of six mobiles M1, M2, M3, M4, M5 and M6 is compared. Weight of M5 is less than only M3. Weight of M4 is less than M6 but
more than M1 and M2. Weight of M6 is less than M5.
Which of the following can have the maximum weight?

Options :
1. ¥ M3
2. % M2
3. & M4
4. & M5

Question Number : 120 Question Id : 630680227435 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

M1, M2, M3, M4, M5 s3)8050 M6 e €38 I0ZO @ 22806 & 120R0E. M5 TBEY, 2280sY) M3 F0T LSr(¢ha3 680965, M4
25059 M6 S0T) €580).65 5°Q M1 08050 M2 © S0 80389 M6 225055 M5 0T ¢580.85.

€900 (808 e3¢5 B HBR 2250590 EOR 0EN0E?

Options :

1. ¥ M3

2. % M2

3. % M4

4, % M5

Question Number : 121 Question Id : 630680227436 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In a certain code language, ‘FRUIT" is coded as ‘HTWEKV".

Match the columns of words with their respective codes on basis of the given code language.

Word Code

I |MATCH |1 |UIQGU

II | PLUTO

(£

OCVE]J

IIT | SHOES 3 |RNWVQ

Options :

1. & [-2, II-1, ITI-3
2. % 1-2, 11-3, 111-1
3. & [-3, 10-1, II1-2
4. % 1-3, 1I-2, III-1

Question Number : 121 Question Id : 630680227436 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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28 D00 E& e, FRUIT' @008 HIWKV'Te & Saadod.

QD FE& o0 00T PO ) HDo20dd Fhodd aahocsod.

Do g£&
I |MATCH |l |UIQGU
I |PLUTO |2 |OCVE]
IIT | SHOES |3 |RNWVQ
Options :
1. & I-2, II-1, III-3

2. % 12, 11-3, 1I-1
3. % [-3,11-1, I1I-2
4. % [-3,11-2, 11I-1

Question Number : 122 Question Id : 630680227437 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code language, ‘CROWNING’ is coded as ‘RCWOINGN”.
Which of the following pairs of Word : Code is correct on the basis of the given code language?

Options :

1. % VIDEOPUT : IVEDPOUT
2. % TRUTHFUL : RTUTFHLU
3. % SKETCHPU : KSTECHUP
4. % PENTOCID : EPTNCODI

Question Number : 122 Question Id : 630680227437 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2.8 J0Q §& o30S, ‘CROWNING” @9FE RCWOINGN'1P §& ToHaGod.
D8 DEYS), TG 2SSO &2 (808 BSOS’ &) D30 : §& HBIE?
Options :

1. % VIDEOPUT : IVEDPOUT

2. % TRUTHFUL : RTUTFHLU

3. % SKETCHPU : KSTECHUP

4. % PENTOCID : EPTNCODI

Question Number : 123 Question Id : 630680227438 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
28 958 oo A 0ol FFEoTR, B aronofHs SHE SIS 20 km D300 D) AEIFRE. 980 @yt 96

SRR BROED), C r0n0HS SOEDHEEIS 10 km SO0, 969 @Oy JEDD SR GR0ED 10 km HED

aro00e) DE SHDE0ED. 90005 & S0b DSOS DO DOHG?
L A 2udaiw D © 06§ 6rce 10410 km.

II.D& e_?ﬁ‘loj:om A cod.

1L D & es5fy oorr B &od.

Options :
1. % 1308050 I e So(ehadd
2. % 1108050 I e S5°(¢dadd
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3. % 1o08A%0 I €0 S5 ehadd
4.9 1, 11 SO0 111

Question Number : 123 Question Id : 630680227438 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A person starts from point A and walks towards west for 20 km to reach point B. He now takes a right turn and walks
for 10 km to reach point C. He now takes a left turn and walks for 10 km to reach point D. Which of the following
statements is correct?

I. Distance between A and D is 104/ 10 km.
II. A is towards the Southeast of D.

III. B is towards the Southeast of D.
Options :
1. % OnlyIand II
2. % Only IT and III
3. % Only I and III
4. 1 Il and 111

Question Number : 124 Question Id : 630680227439 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the word-pair that best represents a similar relationship to the one expressed in the pair of words given below.
TROOP : WOLLS

Options :

1. % PRINT : SORKW
2. % CROSE : FOMHH
3. # SPAIN : VMZFR

4. % PROST : SPLQW

Question Number : 124 Question Id : 630680227439 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%65 BN LIRS DT 285 BENNDAN 28 PEFDS HD0DOTF), GO SPDOTS $¢5-23¢5Q D 5O HOG

DotHsod.
TROOP : WOLLS

Options :

1. ¥ PRINT : SORKW
2. ® CROSE : FOMHH
3. # SPAIN : VMZFR

4. % PROST : SPLQW

Question Number : 125 Question Id : 630680227440 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the set in which the terms are related in the same way as are the terms of the given set.
(TUR, WYU, ZCX)

Options :

1. & (ZIN, CMQ, FPT)
2. # (RIE, VLI, ZOM)
3. % (POT, SRW, VUZ)
4. ¥ (SON, VSQ, YWT)

Question Number : 125 Question Id : 630680227440 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

25 50ES DTS Q20 $50¢3 20350 BEd) HDRTETEN DD IO 0B DOTHEFOR.
(TUR, WYU, ZCX)

Options :

1. ®# (ZIN, CMQ, FPT)

2. % (RIE, VLI, ZOM)

3. & (POT, SRW, VUZ)

4.+ (SON, VSQ, YWT)

Question Number : 126 Question Id : 630680227441 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the given question and statements carefully. Select the correct option on the basis of the question and statements.
Question:

What is the remainder when N is divided by 6?

Statements:

I. N is a multiple of 2.

II. N is a multiple of 3.

Options :

1. % The question can be answered by using one of the statements alone but cannot be answered by using the other statement alone.
2. # The question can be answered by using either of the statements I or II alone.

3. ¥ The question can be answered by using both the statements together but not by either statement alone.

4. % The question cannot be answered even by using both the statements together.

Question Number : 126 Question Id : 630680227441 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
9 520G (03 HOAW (DELIIOD 2 HBM IS0, (9%9) HEAW (DS SO ST DI,
QOoHTOA.

(08
N IO 6 T3 2°A0I0R) I D0 30 DO?
D8 Se:

LN &I 2 A8, Heaso.

I N @936 3 G3nE), heado.

Options :

1. % L&é@é@j 280707, 3775330 EDTITAOIRO0 T° ST° (9% 50 XTI R 53t 5°R) DFE DEEIS0 3755
ENAOIB0 T 50° DTG0 QD §SK.

2. % 1 80 11 1DEOSS BATT &HBIAODIGH0 & ST° (D350 OXFEH0 2 S50

3. ¥ BOCK (DEEIDOX 8O &NHTITA0TIR0 T3 07 (0% 80 DXITETI0 QN 53T0) 57 28, (DEEIS T° §0° 5°¢.

4. % DO (DEEIOR EOD &DTITAOI0 &3° $0° S0 (%) 50 DATTTH0 QeI S0,

Question Number : 127 Question Id : 630680227442 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the given question and statements carefully. Select the correct option on the basis of the question and statements.
Question:

What is the present age of Rohan?

Statements:

I. Rohan was 18 years old 5 years ago.

II. Rohan will go to the college after 2 years.

Options :

1. ¥ The question can be answered by using one of the statements alone but cannot be answered by using the other statement alone.
2. # The question can be answered by using either of the statements I or II alone.

3. # The question can be answered by using both the statements together but not by either statement alone.

4. % The question cannot be answered even by using both the statements together.
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Question Number : 127 Question Id : 630680227442 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

99503 103 0805 (DEEISD 23S <5550&. (0% SDOAW (DEEINE SGPSOMT OB 0D )YSR)Y,
DOTHTOR.

(293):

FQ TB0EY (N SO0 DOeH?

RSN

1.5 0505307 850 TS50 18 DW.

IL 2 50X YT $T°5eh FaIS T80 ILC.

Options :

1. ¥ [HEOIS 2.8 S|S0 GHTIPAOIBO T°ST° 9% 80 DSTETS0 B £5T0.) & 0T (HEES (55
EDAIPAODGB0 T° ST° DATGPS0 BN §SK.

2. % 180 11 [HEOSS BITT &HTPAOBB0 T 0° (H3 50 DSTFEPd0 85 535T0).

3. % DO (DB D &IOTITROIR0 &° ST° (9%, 50 DTG0 @D 5370 5°Q) 2,8, (8IS e S0 5°¢.
4. % DO (D3O EOD &OTITAOI0 &3° §0° S0°E® (%) 50 DATETH0 R S0,

Question Number : 128 Question Id : 630680227443 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

QD 5ES (DS SBAW EyEsed (35528 23S 35S0, PGSO BOVS Qe JZIQND) W
EDDODEDIEE, [DEESE BHFES DSTTTE0 RSO HOHEFOD, [DEEIS 0B T8)E0M &) Eebs 15030/
9080 TS ABoN0H0E.

DES:

A SKS0ST S0t FseS 560 DES 280 rOFoNod.

s |80 :

A. TPODDAS 008 8 £ S35 DFAH0 00w d.

B. $7e30 Je0E 50 5280 DOFHONTE Qe E0e3D Doeyen TASFO.

Options :

1 % A 9530 @00,

2. % B (530 @ 00800,

3.9 A OO B @ BOB® €908 a0.

4. % ASQ S BSO OA @NI80B.

Question Number : 128 Question Id : 630680227443 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A statement is followed by two courses of action (A and B). Based on the information given in the statement, you have to assume
everything in the statement to be true. Identify which course(s) of action logically follow(s).

Statement:

A five-metre portion of a tunnel wall collapsed in city A.

Courses of action:

A. Immediate medical help should be provided to all the injured people.B. An expert committee should be constituted to investigate the
reasons behind the collapse.

Options :

1. & Only A follows

2. % Only B follows

3. % Both A and B follow

4. % Neither A nor B follows

Question Number : 129 Question Id : 630680227444 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

60/71



29/05/2023, 11:03
Study the given line-chart and answer the question that follows.

The line-chart shows the exports and imports for a country for 5 years. All the values are given in Z crores.

6900
6500

7500

7300

5600
4800 L
r T T T 1
Y1 Y2 Y3 Y4 ¥5
—e— Import —a— Export

Trade factor = (Exports/Imports)

Which of the following is the correct order of trade factor for the given years?
Options :

. YI>Y2>Y3>Y5>Y4

2.8 Y1>Y2>Y3>Y4>YS5

3.9Y1>Y2>Y4>Y3>Y5

4. % Y1>Y2>Y4>Y5>Y3

Question Number : 129 Question Id : 630680227444 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
QN FR-erG Ej0id0 230, € S00 DTS PATTE0 QDG

OH-o°§ a8 Do o 5 RoDeTV P IrDAVED SO0 OISR SINE0O. D) Densden 2 Eees”

rQE)gS-E.)g;"OJJ.
7500
7300
5600
4300 bl
T T T T T 1
Y1 ¥2 Y3 Y4 Y5
—e— Import —a— Export

e9: TP red- Exports — drbanedoen, Imports - Srbaudoen
TPEdR] SPOS0 = (DIDHVERD/AMDEDBD)

& 306 oredes” r&ﬁ)b.{a RODSTOE a"s%ee;zg S°0S0 0os); P Savo DA?

Options :

. YI>Y2>Y3>Y5>Y4
2.% Y1>Y2>Y3>Y4>YS5
3.9Y1>Y2>Y4>Y3>Y5
4. % Y1>Y2>Y4>Y5>Y3

Question Number : 130 Question Id : 630680227445 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Study the given table and answer the question that follows.

The table shows the number of runs scored and balls faced by a batsman in five different innings.

Innings Runs | Balls
scored | faced

I1 143 6l

12 150 79

13 60 28

14 53 16

I5 43 22

Strike rate = (Runs scored / ball faced) = 100

Which of the following is the correct order of the strike rate of the innings?
Options :

. 4>13>11>15>12

2.8 14>13>11>12>15

3.8 [4>11>13>12>15

4. ¥ 14>11>13>15>12

Question Number : 130 Question Id : 630680227445 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
PN DS EOD0 0, Sod 23 S VAT ADLE.

DD DBYD @D 0" 23§61 FBODD DEODL T)6 HO0KD BED 220800 VOV DS SFNSVOD.

'E:Dluﬁh FBodd Hhiben |edd wodow oz
I1 143 61
12 150 79
I3 60 28
14 53 16
I5 43 22

25 86 - (FrH0DD DAMED / BED oSV DoY) * 100

& 300 O @D ofiy 5 66 c3ng), DB Savo IB?

Options :

. 4>13>11>15>12
2. 4>13>11>12>15
3.% 4>11>13>12>15
4. 4>11>13>15>12

Question Number : 131 Question Id : 630680227446 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.

Just after dawn next day, Kichaka went to the palace.
Options :

l. % an

2. % that

3.% a

4. ¥ the
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Question Number : 131 Question Id : 630680227446 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.
Just after dawn next day, Kichaka went to the palace.

Options :
1. & an

2. % that
3.% a

4. ¥ the

Question Number : 132 Question Id : 630680227447 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.
You are M. Hercule Poirot, I think? Shall I make guess?

Options :
1.¥a
2. % the
3. % an
4. % this

Question Number : 132 Question Id : 630680227447 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.
You are M. Hercule Poirot, I think? Shall I make guess?

Options :
1.¥a
2. % the
3. % an
4. % this

Question Number : 133 Question Id : 630680227448 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.
, when I pressed him, he even allowed me privileges he kept from his other daughters.

Options :

1. & Rarely

2. % Unusually
3. % Sometimes
4. % Always

Question Number : 133 Question Id : 630680227448 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.
, when I pressed him, he even allowed me privileges he kept from his other daughters.

Options :

1. & Rarely

2. % Unusually
3. % Sometimes
4. % Always
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Question Number : 134 Question Id : 630680227449 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.
He slipped and hid himself, waiting for Kichaka’s arrival.

Options :

1. % indoor
2. % inside

3. % before

4. % beyond

Question Number : 134 Question Id : 630680227449 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.
He slipped and hid himself, waiting for Kichaka’s arrival.

Options :

1. & indoor
2. ¥ inside

3. % before

4. % beyond

Question Number : 135 Question Id : 630680227450 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of these statements has a grammatical error?
Statement A: He did have a clean shirt on and neatly mended overalls.
Statement B: You could have exercised that charm nor you could have restrained it.

Options :

1. & Only A

2.% Only B

3. % Both Aand B

4. % Neither A and B

Question Number : 135 Question Id : 630680227450 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of these statements has a grammatical error?
Statement A: He did have a clean shirt on and neatly mended overalls.
Statement B: You could have exercised that charm nor you could have restrained it.

Options :

1. % Only A

2. % Only B

3. % Both Aand B
4. % Neither A and B

Question Number : 136 Question Id : 630680227451 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of these statements has a grammatical error?
Statement A: As Bhabravya expected, they turned in no time and retreated quick.
Statement B: Darling, they really are incredible, so exquisitely matched.

Options :

1. % Only A

2. % Only B

3. % Both Aand B
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4. % Neither A and B

Question Number : 136 Question Id : 630680227451 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of these statements has a grammatical error?
Statement A: As Bhabravya expected, they turned in no time and retreated quick.
Statement B: Darling, they really are incredible, so exquisitely matched.

Options :

1. ¥ Only A

2. % Only B

3. % Both A and B

4. % Neither A and B

Question Number : 137 Question Id : 630680227452 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following in logical sequence so as to form a coherent paragraph.:
A. They did their regular checks and as per the plan started moving north.

B. But it did, and they were not prepared for it.

C. One would never expect to see rainfall and snow in a desert.

D. They walked steadily north for many days.

E. As they got off the helicopter, first they searched for a hiding spot.

Options :

1. ¥ EADCB
2. % ABCDE
3. ® BDACE
4. % ACDBE

Question Number : 137 Question Id : 630680227452 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following in logical sequence so as to form a coherent paragraph.:
A. They did their regular checks and as per the plan started moving north.

B. But it did, and they were not prepared for it.

C. One would never expect to see rainfall and snow in a desert.

D. They walked steadily north for many days.

E. As they got off the helicopter, first they searched for a hiding spot.

Options :

1. ¥ EADCB
2. % ABCDE
3. # BDACE
4. % ACDBE

Question Number : 138 Question Id : 630680227453 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of these statements has a grammatical error?
Statement A: Nandi bursted out in laughter as he slapped the Arishtanemi on his arm.
Statement B: Only over-riding national interests would have provoke him to the extreme step of resignation.

Options :

1. % Only A

2. % Only B

3. % Both A and B
4. % Neither A and B

Question Number : 138 Question Id : 630680227453 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of these statements has a grammatical error?
Statement A: Nandi bursted out in laughter as he slapped the Arishtanemi on his arm.
Statement B: Only over-riding national interests would have provoke him to the extreme step of resignation.

Options :

1. % Only A

2. % Only B

3. % Both A and B

4. % Neither A and B

Question Number : 139 Question Id : 630680227454 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of these statements has a grammatical error?
Statement A: Surely there must be some good king, mustn't there?
Statement B: Harry give his cousin an impatient dig in the ribs, didn't he?

Options :

1. % Only A

2.9 Only B

3. % Both A and B

4. % Neither A and B

Question Number : 139 Question Id : 630680227454 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of these statements has a grammatical error?
Statement A: Surely there must be some good king, mustn't there?
Statement B: Harry give his cousin an impatient dig in the ribs, didn't he?

Options :

1. % Only A

2.9 Only B

3. % Both A and B

4. % Neither A and B

Question Number : 140 Question Id : 630680227455 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.
You aren’t an archer, you?

Options :
1. ¥ are

2. % is

3. % can

4. % have

Question Number : 140 Question Id : 630680227455 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.
You aren’t an archer, you?

Options :
1. ¥ are
2. % is
3. % can
4. % have

66/71



29/05/2023, 11:03

Question Number : 141 Question Id : 630680227456 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the correct passive form of the given sentence.
Geeta will return the laptop as soon as she finishes her report.

Options :

1. % The laptop is being returned by Geeta as sh ehas finished her report.

2. # The laptop will return Geeta as soon as her report is finished.

3. & The laptop had been returned by Geeta as soon as she finished her report.
4. ¥ The laptop will be returned by Geeta as soon as she finishes her report.

Question Number : 141 Question Id : 630680227456 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the correct passive form of the given sentence.
Geeta will return the laptop as soon as she finishes her report.

Options :

1. % The laptop is being returned by Geeta as sh ehas finished her report.

2. # The laptop will return Geeta as soon as her report is finished.

3. # The laptop had been returned by Geeta as soon as she finished her report.
4. ¥ The laptop will be returned by Geeta as soon as she finishes her report.

Question Number : 142 Question Id : 630680227457 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From the options choose the correct active voice form for the sentence given below.
That horse was ridden by my brother.

Options :

1. ¥ My brother rode that horse.

2. # My brother rides over that horse.
3. #% My brother rides that horse.

4. % My brother is ridding that horse.

Question Number : 142 Question Id : 630680227457 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From the options choose the correct active voice form for the sentence given below.
That horse was ridden by my brother.

Options :

1. ¥ My brother rode that horse.

2. # My brother rides over that horse.
3. #% My brother rides that horse.

4. % My brother is ridding that horse.

Question Number : 143 Question Id : 630680227458 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of these four pairs of idiom and its meaning is the correct match?
Options :

1. % A dog's life: An important person

2. % Cold turkey: Someone going on a vacation after long time

3. # In the bag: To be extremely happy

4. ¥ The cat is out of the bag: Secret is revealed
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Question Number : 143 Question Id : 630680227458 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of these four pairs of idiom and its meaning is the correct match?
Options :
1. % A dog's life: An important person
2. # Cold turkey: Someone going on a vacation after long time
3. # In the bag: To be extremely happy
4. ¥ The cat is out of the bag: Secret is revealed

Question Number : 144 Question Id : 630680227459 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate meaning of the given proverb.
Teach a man to fish

Options :

1. % You have to act fast to get what you want.

2. ¥ Teaching someone a skill and it will help them forever.
3. % Giving some unwanted advice.

4. % If you don't work hard you will not achieve your goal.

Question Number : 144 Question Id : 630680227459 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate meaning of the given proverb.
Teach a man to fish

Options :

1. #% You have to act fast to get what you want.

2. # Teaching someone a skill and it will help them forever.
3. # Giving some unwanted advice.

4. % Ifyou don't work hard you will not achieve your goal.

Question Number : 145 Question Id : 630680227460 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

Match the following words with their respective antonym.

A. Wander | 1. Sink

B. Float 2. Disorder

C. Overt 3. Direct

D. Pattern | 4. Unclear

Options :

1. % A-1,B-2,C-3,D-4
2.9 A-3,B-1,C-4,D-2
3. % A-4,B-3,C-4, D-1
4. % A-4,B-2,C-3,D-4

Question Number : 145 Question Id : 630680227460 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
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Match the following words with their respective antonym.

A. Wander | 1. Sink

B. Float 2. Disorder

C. Overt 3. Direct

D. Pattern | 4. Unclear

Options :

1. % A-1,B-2,C-3,D-4
2. % A-3,B-1,C-4,D-2
3. % A-4,B-3,C-4,D-1
4. % A-4,B-2,C-3,D4

Question Number : 146 Question Id : 630680227461 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Consider the following pairs:

A. Fabricate: Assemble

B. Insipid: Tasty

C. Annoyed: Gratified

D. Simple: Complex

Choose the correct pair of synonyms:

Options :

1. % A only

2. % A &BOnly
3. % C&Donly
4. % A, C,D Only

Question Number : 146 Question Id : 630680227461 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Consider the following pairs:

A. Fabricate: Assemble

B. Insipid: Tasty

C. Annoyed: Gratified

D. Simple: Complex

Choose the correct pair of synonyms:

Options :

1. ¥ A only

2. % A & B Only
3. % C&Donly
4. % A, C,D Only

Question Number : 147 Question Id : 630680227462 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % LIESURE

2. ¥ TOMORROW

3. & SEPERATE

4. % PRESANCE
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Question Number : 147 Question Id : 630680227462 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ® LIESURE

2. ¥ TOMORROW

3. & SEPERATE

4. % PRESANCE

Question Number : 148 Question Id : 630680227463 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words are given, out of which three words are spelt correctly. Choose the incorrectly spelt word.
Options :

1. & WITHHOLD

2. % UNTIL

3. % TWELFTH

4.+ PUBLICALLY

Question Number : 148 Question Id : 630680227463 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words are given, out of which three words are spelt correctly. Choose the incorrectly spelt word.
Options :

1. % WITHHOLD

2. % UNTIL

3. % TWELFTH

4.+ PUBLICALLY

Question Number : 149 Question Id : 630680227464 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.
It is about the society as a .

Options :
1. % hall
2. % whole
3. % howl
4. % hole

Question Number : 149 Question Id : 630680227464 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.
It is about the society as a .

Options :
1. % hall
2. % whole
3. % howl
4. s hole

Question Number : 150 Question Id : 630680227465 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Fill in the blank with the most appropriate option.
Though the shirt was he rejected it. Nobody what the reasons were for his rejection.

Options :

1. ® New ----- new

2. % Knew -------- new
3. ¥ New------- knew
4. % Knew------- knew

Question Number : 150 Question Id : 630680227465 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.
Though the shirt was he rejected it. Nobody what the reasons were for his rejection.

Options :

1. # New ----- new

2. % Knew -------- new
3. ¥ New------- knew
4. % Knew------- knew
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